
Safe Braking Products

Safe braking is our priority
www.sbp-brakes.com

PRODUCT
CATALOGUE



www.sbp-brakes.com2

SAFE BRAKING SYSTEM ELEMENTS
FOR COMMERCIAL VEHICLES

OUR AIMS ARE:
-  delivering top quality and at the same time safe spare parts for braking systems of 

commercial vehicles
-  strict control during each stage of production in order to assure top quality for all 

delivered products
-  constant development of product range in order to meet the requirements of market 

and customers
-  searching for new production technologies in order to increase durability of products 

and at the same time being able to keep competitive prices
- being a leading supplier of brake system spare parts for aftermarket

Such mission of our company allows us to focus on what is most important for our 
Customers, and at the same time for us. Our experience so far, shows that we are 
going the right way. Our presence and constant growth of market share in Central and 
Eastern Europe are not only motivating to constant development and hard work, but 
also lets us having an optimistic look into the future.



Kraftfa
hrt-B

undesamt

DE-24932 Flensburg 

MITTEILUNG

ausgestellt v
on: 

Kraftfa
hrt-B

undesamt 

über die Erweiterung der G
enehmigung   

für eine Ersatz-Bremsbelag-Einheit o
der einen Ersatz-Trommelbrems-

belag nach der R
egelung Nr. 9

0 

COMMUNICATION

issued by: 
Kraftfa

hrt-B
undesamt 

concerning approval extended   

replacement brake lining assembly or re
placement drum brake lining 

pursuant to
 Regulation No. 90. 

Nummer der G
enehmigung: 011441/001

Erweiterung: 01 
 .oN noisnetxE

 .oN lavorppA

1. 
Name und Anschrift 

des Antragstellers: 

Applicant's name and address: 

Specjalistyczne Materialy i O
kladziny    

Cierne FRENOPLAST Bulhak i C
ieslawski S.A.    

PL-12-100 SZCZYTNO

2. 
Name und Anschrift 

des Herstellers: 

Manufacturer's name and address: 

Specjalistyczne Materialy i O
kladziny    

Cierne FRENOPLAST Bulhak i C
ieslawski S.A.    

PL-12-100 SZCZYTNO

3. 
Marke und Typ der Bremsbelag-Einheit/d

es Trommelbremsbelags: 

Make and type of brake lining assembly/drum brake lining: 

WVA 29108 

4. 
Marke und Typ des Bremsbelages: 

Make and type of brake lining: 

FRENOPLAST SBP FR 166 

E1

www.sbp-brakes.com 3

SAFE BRAKING SYSTEM ELEMENTS
FOR COMMERCIAL VEHICLES

SBP PRODUCTS are a subject to strict control and tests during all stages 
of production: beginning with purchasing raw materials from trusted suppliers, who 
can guarantee top quality of materials, through all production processes, finishing 
with packing final goods. The production is performed in compliance with rigorous 
quality standards, which are all described and kept by ISO/TS 16941 norms.

 
Quality tests are made in three areas, thanks to this our products meet all the toughest 
quality norms and standards.

We begin with precise geometry measurements of supplied elements. Thanks to 
special measuring devices we can obtain accuracy of measurements up to 0.002mm.

Another step is metallographic tests which we begin with checking the hardness of 
material and we compare it with strict norms.

The last stage of quality control tests if analysis of microstructure. This test allows us 
to check the kind of material being used for production. We compare many elements 
of microstructure with the data in norms, these are mostly graphite grains check of the 
material and also elements of matrix.

Our high quality has been confirmed by the approval of E11 for brake pads and  
a certificate of conformity for the brake discs.



BRAKE DISCS

A - Outer Diameter Ø [mm]
B - Thickness [mm]
C - Hub Bore Ø [mm]
D - Height [mm]
E - Pitch Circle Ø [mm]

A

C

D

E

B

SBP no OEM No Model

PO
SI

TI
ON

A B C D E HOLES / 
STUDS

Additional 
Info

02-BP001 03.088.34.02.0 
03.088.34.06.0

SB6000 with ECO PLUS, 
SKH series 377 45 290 160 335 10 x 23mm 

2 x 10mm

02-BP002 03.088.34.08.0 SKH series 377 45 290 170 335 10 x 23mm 
2 x 10mm

02-BP003 03.088.35.03.0 SB7000 with ECO PLUS, 
SH series 430 45 290 160 335 10 x 23mm 

2 x 10mm

02-BP004 03.088.34.03.0 
03.088.34.03.7 SKH series 377 45 230 160 275 8 x 23mm 

2 x 10.5mm With ABS Ring

02-BP005 03.088.34.04.0 SB6000 with ECO PLUS, 
SKH series 377 45 290 160 335 10 x 23mm 

2 x 10.2mm With ABS Ring

02-BP006 03.088.34.01.0 
03.088.34.01.7 SKH series 377 45 230 160 275 8 x 23mm 

2 x 10.5mm

02-BP007 03.088.35.01.0 SB700 with ECO PLUS, 
SH series 430 45 290 160 335 10 x 23mm 

2 x 10mm With ABS Ring

02-BP008 03.088.34.13.0 SKH SERIES(SB3745) 
2003- 377 45 300 160 335 10 x 23mm With ABS Ring

BPW

DAF

SBP no OEM No Model

PO
SI

TI
ON

A B C D E HOLES / 
STUDS

Additional 
Info

02-DA001 1387439 
1640561 CF 65 CF 75 CF 85 XF 95 F/R 432 46 257 46 0 10H

www.sbp-brakes.com4
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.



DAF

SBP no OEM No Model

PO
SI

TI
ON

A B C D E HOLES / 
STUDS

Additional 
Info

02-DA002 1387439 
1640561 CF 65,75,85 F/R 432 46 257 46 0 10H

02-DA002FK 1393560 
1393561 XF95 / 95 XF fixing kit for  

02-DA002

02-DA003
MAK2487 
PAK3546 
AMPB887

45 series 
FA1000 F 312 30 134 137 135 12 x M12x1.75

02-DA004
299095 
299295  

1230000
MB220, 230 F/R 460 48 170 119 195 10 x M16x2

02-DA005

AMPB889 
MAK7529 
MAK7429 
RAK7404

45 series F 315 26 119 122 138 10 x M12x1.75

02-DA006 1403758 
1408253 LF45 12 tonne 01- F 329 34 133 144 150 16 x M12x1.75 With ABS Ring

02-DA007 1400163 
1408252 LF45 exc 12 tonne 01- F 329 35 117 124 138 12 x M12x1.75 With ABS Ring

02-DA008 1400273 
1408254 LF45 exc 12 tonne 01- R 329 35 149 120 175 12 x M12x1.75 With ABS Ring

02-DA009 AAR5516 
LBU8698

LDV 300,400
Convay, Sherpa F 275 24 83 63 105 5 x 10mm

02-DA010 1400284 LF55 12-18 tonne 02- R 374 45 179 147 210 10 x M14x1.5 With ABS Ring

02-DA011 1387439 
1640561

XF95 98-, XF105 98-, 
SB4000 99- F/R 432 46 257 46 0 Knorr type with 

fixing kit

BRAKE DISCS

A - Outer Diameter Ø [mm]
B - Thickness [mm]
C - Hub Bore Ø [mm]
D - Height [mm]
E - Pitch Circle Ø [mm]

A

C

D

E

B

www.sbp-brakes.com 5
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.



BRAKE DISCS

A - Outer Diameter Ø [mm]
B - Thickness [mm]
C - Hub Bore Ø [mm]
D - Height [mm]
E - Pitch Circle Ø [mm]

A

C

D

E

B

SBP no OEM No Model

PO
SI

TI
ON

A B C D E HOLES / 
STUDS

Additional 
Info

02-FO001 4041427 
4395257 FORD Transit 04.00- F 276 24,4 82 43 100 5 x M10

02-FO002 6172906 FORD CARGO 608-
11,708-13,808-15(3/87-) F/R 322 30 148 126 205 6 x 200mm

3 x M8

FORD

IVECO

SBP no OEM No Model

PO
SI

TI
ON

A B C D E HOLES / 
STUDS

Additional 
Info

02-IV001 42471214 DAILY II, 65C15 F 290 26 80 53 110 9 x 12.5mm

02-IV002 2991646 DAILY 276 16 73 66,5 118 5 x 15.6mm 
2 x 8.6mm

02-IV003 1906461
EURO TECH,  

EURO TRAKKER, 
STRALIS

F 436 45 210 139 240 12 x M16x2

02-IV004 1907528  
1907529 EUROCARGO TECTOR F/R 304 30 165 129 205 6 x 18.2mm 

2 x M10x1.5

02-IV005 1907526  
1907527 EUROCARGO TECTOR F/R 322 30 215 134 275 8 x 20.15mm 

2 x M10x1.5

02-IV006 1906191 
1908729

EUROCARGO 
EUROSTAR EUROTECH 

SUPERCARGO
F/R 430 50 170 102 195 12 x M16x2

02-IV007 02992477 
07184136

EUROCARGO 
EUROTRAKKER STRALIS F/R 432 45 210 139 240 12 x 16x2mm

www.sbp-brakes.com6
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.



IVECO

SBP no OEM No Model

PO
SI

TI
ON

A B C D E HOLES / 
STUDS

Additional 
Info

02-IV008 172930  
19075697 EUROCARGO F 370 45 215 182 275 8 x 22.15mm 

2 x M10x1.5

02-IV009 172930
19075697

IVECO DAILY
S2000 35Sxx F 276 22 73 72,5 118 5 x 15.6mm

2 x 8.8mm

02-IV010 02994066
07185410

VECO DAILY 
35S9-11(99-) F 276 16 73 69,5 118 5 x 15.6mm

2 x 8.8mm with ABS ring

02-IV011 1904532 
7168368

EUROCARGO ZETA 
Z-range F 315 26 160 119 205 T6X18-2X10

02-IV012 42471150 DAILY 60C13, 
DAILY 65C13 R 305 22 178 131 215 6 x M10x1.25

02-IV013 1904693 
1904696

IVECO TURBODAILY 
59.12 F 290 25 140 161 205 6 x M18x1.5

02-IV014 2996121 DAILY III, F 290 28 74 46 95 9 x 12.5mm

02-IV015 2996043 DAILY S2006 
35C10/12/14/15/18 R 294 24 84 88 108 8 x 10,5mm with ABS ring

02-IV016 1906466 TECTOR 
120E.17/21,120EL15/18/21 F/R 329 34 215 141 275 8 x 20mm

2 x M10x1,5

02-IV017 1907568 
7172880

EUROCARGO TECTOR 
EUROLIFE F 370 45 215 150 275 8 x 20.15mm 

2 x M10x1.5

02-IV018 2995894 
7187541 EUROCARGO F/R 378 45 93 105 104,5 14 x 15,3mm

BRAKE DISCS

A - Outer Diameter Ø [mm]
B - Thickness [mm]
C - Hub Bore Ø [mm]
D - Height [mm]
E - Pitch Circle Ø [mm]

A

C

D

E

B

www.sbp-brakes.com 7
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.



BRAKE DISCS

A - Outer Diameter Ø [mm]
B - Thickness [mm]
C - Hub Bore Ø [mm]
D - Height [mm]
E - Pitch Circle Ø [mm]

A

C

D

E

B

SBP no OEM No Model

PO
SI

TI
ON

A B C D E HOLES / 
STUDS

Additional 
Info

02-IV019 2996328 
7189476 STRALIS R 432 45 210 139 240 10 x M16x2

02-IV020 2992291
7183805 EUROCARGO F 377 45 215 151 275 M22x1,5

2 x M10x1,58

02-IV021 2992271 EUROCARGO F 377 45 215 151 275 8 x M18x1.5 
2 x  M10X1.5

02-IV022 2996710 IVECO EUROCARGO 
140 /T F/R 377 45 225 151 275 2 x  M10X1.58 x 

M18x1.5

02-IV023 2996009
7187569 IVECO EuroCargo F/R 322 30 215 134 275 2 x M108 x 

20mm

02-IV024 2996419
7189265 IVECO EUROCARGO 06-> F 330 32 185 129,5 245 2 x M10x1,56 x 

20,15mm

02-IV025 93161407 IVECO EuroRider F 416 28 159 67 186 10 x 28mm

02-IV026 2996049 IVECO DAILY S2006  
65C15/18 R 306 28 178 132 215 6 x M10x1.25

SBP no OEM No Model

PO
SI

TI
ON

A B C D E HOLES / 
STUDS

Additional 
Info

02-MA001 81.50803.0042 TGL,TGM,L2000 F 335 34 90 93 122 10 x 15mm 
2 x M10

IVECO

MAN

www.sbp-brakes.com8
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.



MAN

SBP no OEM No Model

PO
SI

TI
ON

A B C D E HOLES / 
STUDS

Additional 
Info

02-MA002 81.50803.0062 TGL R 335 34 154 118 176 10 x M14x1.5 
2 x M8x1.5

02-MA003

81.50803.0040 
81.50803.0031 
81.50803.0038 
81.50803.0023

F2000 LE M2000 
NG, NL, UEL series F 432 45 131 130 168 12 x 19mm 

3 x M12x1.5

02-MA004

81.50803.0009 
81.50803.0001 
81.50803.0014 
81.50803.0015

TRANSLINER
NG, SUE, UEL series F 438 45 200 135 235 10 x M16x1.5

02-MA005
81.50803.0041 
81.50803.0021 
81.50803.0042

TGA, TGM, TGS, TGX, 
Centroliner, Lions
NG, NL, SL series

F/R 432 45 208 135 235 10 x M16x1.5

02-MA006 81.50803.0022 L2000 series 
L2000,M2000 L series F/R 330 34 157 124 180 12 x M12x1.5 With ABS Ring

02-MA007 81.50803.0026 
81.50803.0024

L2000 series 
L2000,M2000 L series F/R 330 34 135 104 158 10 x M14x1.5

02-MA008 81.50803.0039 L2000 LE L2000 
EVOLUTION R 330 34 145 130 177 8 x M12

02-MA009 81.50803.0010 L2000 series  
SL150-190 series F 324 30 135 102 158 10 x M14x1.5

02-MA010 81.50803.0027 
81.50803.0020 MAN L/M2000 F 377 45 162 128 195 10 x M14x1.5

02-MA011 81.50803.0028 F90 M90 TG-A
NG, SUE, UEL series F/R 432 45 208 135 235 10 x M16x1.5 With ABS Ring

02-MA012 81.50803.0063 TGL R 335 34 154 118 176 10 x M14x1.5 
2 x M8x1.5

02-MA013 81.50803.0044 TGA SERIES 00- TGM 
SERIES 05- F 377 45 106 111 144 12 x 17mm

BRAKE DISCS

A - Outer Diameter Ø [mm]
B - Thickness [mm]
C - Hub Bore Ø [mm]
D - Height [mm]
E - Pitch Circle Ø [mm]

A

C

D

E

B

www.sbp-brakes.com 9
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.



BRAKE DISCS

A - Outer Diameter Ø [mm]
B - Thickness [mm]
C - Hub Bore Ø [mm]
D - Height [mm]
E - Pitch Circle Ø [mm]

A

C

D

E

B

SBP no OEM No Model

PO
SI

TI
ON

A B C D E HOLES / 
STUDS

Additional 
Info

02-ME001 970 423 06 12 
970 420 00 00 ATEGO 712-823 98- R 335 34 131 111 177 8 x M12x1.5

02-ME003
975 423 03 12 
975 423 00 12 
975 423 06 12

ECONIC
ATEGO, O500

TOURINO
R 377 45 176 138 201 8 x M14x1.5

02-ME006 942 421 12 12 
942 421 09 12 ACTROS F/R 430 45 211 133 238 10 x M14x1.5

02-ME007 668 421 01 12 VARIO 0409, 512D, 612D, 
614D, 812D F 304 30 118 91 140 6 x M12x1.5

02-ME009 670 421 03 12 
670 350 00 00 ECONOMY, TEAMSTAR F 324 30 118 91 140 6 x M12x1.5

02-ME011
356 421 10 12 
356 421 03 12 
356 451 12 12

EUROSTAR,TRANSLINER F/R 438 45 195 135 235 10 x M14x1.5

02-ME012 668 423 00 12 VARIO 612D,  
614D, 812D 96- R 304 30 157 121 192 6 x M12x1.5

02-ME014 668 423 01 12 VARIO 96- R 324 30 157 121 192 6 x M12x1.5

02-ME015 668 423 05 12 VARIO 4.3 TDi, 810D, 
814D, TD 96- R 324 30 120 121 192 6 x M12x1.5

02-ME016 668 423 04 12  
668 420 00 00 VARIO 612D, 614D R 304 30 120 121 192 6 x M12x1.5

02-ME017
970 421 01 12 
970 421 00 12 
970 421 06 12

ATEGO 712-823 98- F 335 34 92 102 120 10 x 14.5mm

MERCEDES

www.sbp-brakes.com10
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.



SBP no OEM No Model

PO
SI

TI
ON

A B C D E HOLES / 
STUDS

Additional 
Info

02-ME018
975 421 01 12 
975 421 00 12 
975 421 02 12

ATEGO, TOURINO F 377 45 106 134 138 14 x 14.5mm

02-ME021

970 423 05 12 
970 423 00 12 
970 423 07 12 
970 423 21 12

ATEGO 917-1023 98- R 335 34 152 111 177 8 x M12x1.5

02-ME022 675 421 00 12 ATEGO 917-1023 98- F 377 45 211 132 238 10 x M14x1.5

02-ME023 906 423 01 12 SPRINTER 2006-> R 303 28 120 93 145 6 x 15mm

02-ME024 905 421 00 12 SPRINTER 2001-> F 290 26 69,5 70 96 8 x 14,5mm

02-ME025 905 420 00 72 SPRINTER 2001-> R 304 30 117 115 192 6 x M12x1.5

SBP no OEM No Model

PO
SI

TI
ON

A B C D E HOLES / 
STUDS

Additional 
Info

02-MI001 MK356572 CANTER FUSO FB83 
2005-2010 R 266 24 132 82 170 8 x M10x1,5

02-MI002 QMK326334 CANTER 75 7.5T F/R 309 40 114 54 140 6 x M12x1,75

02-MI003 MB295971 CANTER 35 F/R 290 20 104 73 126 6 x 10,2mm

MERCEDES

MITSUBISHI

BRAKE DISCS

A - Outer Diameter Ø [mm]
B - Thickness [mm]
C - Hub Bore Ø [mm]
D - Height [mm]
E - Pitch Circle Ø [mm]

A

C

D

E

B

www.sbp-brakes.com 11
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.



BRAKE DISCS

A - Outer Diameter Ø [mm]
B - Thickness [mm]
C - Hub Bore Ø [mm]
D - Height [mm]
E - Pitch Circle Ø [mm]

A

C

D

E

B

SBP no OEM No Model

PO
SI

TI
ON

A B C D E HOLES / 
STUDS

Additional 
Info

02-NI001 40206F3901 ATLEON F 263 24 69 53 118 6 x M12x1,5

SBP no OEM No Model

PO
SI

TI
ON

A B C D E HOLES / 
STUDS

Additional 
Info

02-RO001 21224263 TM DX195 378 45 225 150 275 8 x 24.25mm 
2 x M12x1.75

02-RO002 21225115 LM DX195, LMC DX 195) 378 45 222 150 250 10 x M16

02-RO003 68323825 D-DUCO 98- D-ELSA 
98- DX225 434 45 222 150 250 10 x M16x2

02-RO004 68323233 C DUCO 375 45 225 151 275 8 x 20mm
2 x M10x1,5

02-RO005 21227349 LM/LMC Dx195 378 45 150 222 250 10 x M16x2 FOR ABS

NISSAN

MERITOR / ROR

SBP no OEM No Model

PO
SI

TI
ON

A B C D E HOLES / 
STUDS

Additional 
Info

02-NE001
0821.333.10 
0821.358.30

0870.316.953

SKYLINER (03/94-)
N-series F 430 45 203 131 235 10 x M16x1.5

02-NE002 0801.621.00 N116-122;N213-
216;N316-318 F 410 48 162 120 185 12 x M16x1.5

NEOPLAN

www.sbp-brakes.com12
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.



SBP no OEM No Model

PO
SI

TI
ON

A B C D E HOLES / 
STUDS

Additional 
Info

02-RV001 5000790539 Irisbus Ares F 400 42 175 90 197 12 x 12,5mm

02-RV002 5010260603 Mascott(1/99-) F 290 26 102 42,5 120 10 x 10,5mm

02-RV003 5010216437
MAGNUM E-TECH 

00-06, MIDLUM 99-06, 
PREMIUM 99-06

F 438 45 131 97 165 10 x 17mm 
2 x M14mm

02-RV004 5010260609 MASCOTT 1999- R 290 22 115 78 132 8 x 10,6mm

02-RV005 5010216433 MIDLINER B70-120 F 276 24 102 44 120 10 x 10,5mm

02-RV006 5010422593 MAGNUM AE F 438 45 131 97 154 10 x 17mm 
2 x M14mm

02-RV007 5010216932 RVI S 160/180 F 322 30 140 245 6 x 21mm

02-RV008 5000792539  
5010200000 MAGNUM AE  MANAGER F 440 45 131 100 165 10 x 16.8mm 

2 x M14x2

02-RV009 5000450158  
5000500000

MIDLINER 
CITY BUS 93- F 354 30 128 82 151 10 x 12.3mm

02-RV010 5010525308 MIDLUM 99-06 F 330 36 95 80 118 10 X 15mm 
2 x M12x1.75

02-RV011 5010422263 MIDLUM R 330 34 194 137 245 6 x 21mm

RENAULT

BRAKE DISCS

A - Outer Diameter Ø [mm]
B - Thickness [mm]
C - Hub Bore Ø [mm]
D - Height [mm]
E - Pitch Circle Ø [mm]

A

C

D

E

B

www.sbp-brakes.com 13
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.



BRAKE DISCS

A - Outer Diameter Ø [mm]
B - Thickness [mm]
C - Hub Bore Ø [mm]
D - Height [mm]
E - Pitch Circle Ø [mm]

A

C

D

E

B

SBP no OEM No Model

PO
SI

TI
ON

A B C D E HOLES / 
STUDS

Additional 
Info

02-RV012 5010598304 MIDLUM DXI R 330 34 194 137 245 6 x 21mm

02-RV013 5010525362 MIDLUM R 375 45 222 167 275 8 x 22,5mm

02-RV014 7420924727 MASCOTT 2010-> F 290 26 73 77 95 10 x 12,7mm 
2 x M8x1,25

02-RV015 7420924728 MASCOTT DXI F 290 22 73 77 95 10 x 12,7mm 
2 x M8x1,25

02-RV016 8200688880 MASTER IV F 302 28 90 70 130 5 x 17,5mm 
1 x 8,5mm

02-RV017 5001871214 MAXITY 2007-> F 290 26 96 53 118 6 x M12x1,5

02-RV018 5010598309 MIDLUM DXi 2004-> R 410 45 262 166 335 10 x 32,7mm

02-RV019 5010598308 MIDLUM DXI F 410 45 131 93 165 10 x 17mm 
2 x M14mm

02-RV020 5010525326 MAGNUM E-TECH R 434 45 260 163 335 10 x 32,8mm

02-RV021 5001874635 MAXITY 2007- R 280 16 108 62 127 6 x 10,7 mm

02-RV022 5010598306 MIDLUM R 375 45 222 166 275 8 x 22,5mm

RENAULT

www.sbp-brakes.com14
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.



SBP no OEM No Model

PO
SI

TI
ON

A B C D E HOLES / 
STUDS

Additional 
Info

02-SA001
4079000500 
4079000501 
4079000502

SK RB 9022H,SK RB 
9022 K 430 45 131 130 168 12 x 19mm 

3 x M12x1.5

02-SA002 4079000700  
4079000000

SK RB 9019 K (SB6, 
SN6), SK RB 9019 W 375 45 131 140 168 12 x 19mm 

3 x M12x1.5

02-SA003 4079000300 SK RS 9022 H,SK RS 
9022 K SK RS 11222 K 430 45 190 161 335 10 x 22.75mm

02-SA004 4079000400 SK RS 9019 K SK RZ 
9019 K 377 45 169 158 275 8 x 22.75mm

RENAULT

SAF

SBP no OEM No Model

PO
SI

TI
ON

A B C D E HOLES / 
STUDS

Additional 
Info

02-RV023 5010598305 MIDLUM DXI F 375 45 174 119 142 10 x 14,9mm 
2 x M14x2

02-RV024 5010216931 
5010260101

MIDLINER S 
120/135/140/150/160 F 304 30 250 135 205 6 x 21mm

02-RV025 5010422262 MIDLUM F 330 34 95 80 118 10 x 14.5 
2 x M11

02-RV026 5010260218 MIDLUM F 380 45 117 85 144 10 X 15mm 
2 x M14x2

02-RV027 5010422364 MAGNUM 400,440,480 R 434 45 224 160 256 12 x M14X1.5

BRAKE DISCS

A - Outer Diameter Ø [mm]
B - Thickness [mm]
C - Hub Bore Ø [mm]
D - Height [mm]
E - Pitch Circle Ø [mm]

A

C

D

E

B

www.sbp-brakes.com 15
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.



BRAKE DISCS

A - Outer Diameter Ø [mm]
B - Thickness [mm]
C - Hub Bore Ø [mm]
D - Height [mm]
E - Pitch Circle Ø [mm]

A

C

D

E

B

SBP no OEM No Model

PO
SI

TI
ON

A B C D E HOLES / 
STUDS

Additional 
Info

02-SE001 179241111131 FHD 87-95 F 406 48 194 175 215 10 x M16x1.5

02-SE002 8285390000  
501310000 SETRA F 432 45 194 135 220 10 x M16x1.5

02-SE003
179241111307 

8284000147 
1792411113070

SETRA F 396 48 194 119 215 10 x M16x1.5

02-SE004 1722411113020 EVO-BUS F 315 35 205 154 253 6x18 mm
2xM10

SETRA / KASSBOHRER

SBP no OEM No Model

PO
SI

TI
ON

A B C D E HOLES / 
STUDS

Additional 
Info

02-SA005 4079001300 
4079001301

SK RB 9026 SK RB 9027 
SK RB 9028   376 45 170 57 190

02-SA006
4079001000 
4079001001 
4079001002

SK RB 9021 SK RB 9022 376 45 170 57 190

SAF

SBP no OEM No Model

PO
SI

TI
ON

A B C D E HOLES / 
STUDS

Additional 
Info

02-SC001 1402272 
1386686 SCANIA 94,114,124,144 F/R 430 45 208 131 237 10 x M16x1.5

SCANIA

www.sbp-brakes.com16
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.



SBP no OEM No Model

PO
SI

TI
ON

A B C D E HOLES / 
STUDS

Additional 
Info

02-ME006
0801.317.662 
0820.352.121 
0820.351.05

U12  front axle 
ZFRL75EC F 430 45 211 133 238 10 x M14x1.5

02-NE001
0821.358.300 
0870.316.953 
0720 387 684

U6,8Alpino,U10,U12,U18 F 430 45 203 131 235 10 x M16x1.5

02-SO001 0820.353.074 F/R 432 45 194 135 238

SBP no OEM No Model

PO
SI

TI
ON

A B C D E HOLES / 
STUDS

Additional 
Info

02-SH001 017870 CARGO 430 45 290 168 335 10x22,5 mm

SHMITZ

SBP no OEM No Model

PO
SI

TI
ON

A B C D E HOLES / 
STUDS

Additional 
Info

02-SM001 M200135 SMB 102-100 430 45 280 155 335 10 x 26.9mm FOR ABS

SMB / FRUEHAUF

SOLARIS

BRAKE DISCS

A - Outer Diameter Ø [mm]
B - Thickness [mm]
C - Hub Bore Ø [mm]
D - Height [mm]
E - Pitch Circle Ø [mm]

A

C

D

E

B

www.sbp-brakes.com 17
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.



BRAKE DISCS

A - Outer Diameter Ø [mm]
B - Thickness [mm]
C - Hub Bore Ø [mm]
D - Height [mm]
E - Pitch Circle Ø [mm]

A

C

D

E

B

VOLVO

SBP no OEM No Model

PO
SI

TI
ON

A B C D E HOLES / 
STUDS

Additional 
Info

02-VO001 6796864 FL 6 R 322 30 216 138 275 8 x M12

02-VO002
6775227, 
6775229 

67752279
FL6 series R 322 30 216 138 275 8 x 13mm

02-VO003 6779208 VOLVO FL4, FL608-14 F/R 322 30 132 90 154 6 x M14

02-VO004
6774686 
6774687 

67746867
FL6 series F 322 30 132 90 154 8 x M14x2mm

02-VO005 6779209 FL4series R 322 30 164 115 190 6

02-VO006 85103804 FH12,FH16, FM12,FM9 F/R 410 45 220 45

02-VO007 85103803 FH12,FH16,FM series F/R 434 45 45

02-VO008 3092710 FH12 98-02, FM12 98-02 F/R 434 45 45

02-VO008FK FH12 98-02, FM12 98-02 Fixing kit

www.sbp-brakes.com18
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.



249.6

118.4

28.2

29030WVA

SBP no: 07-P29030

ECE R90 Certificate

www.sbp-brakes.com 19
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.

BRAKE PADS
Kraftfahrt-Bundesamt

DE-24932 Flensburg 

MITTEILUNG

ausgestellt von: 

Kraftfahrt-Bundesamt 

über die Erweiterung der Genehmigung   

für eine Ersatz-Bremsbelag-Einheit oder einen Ersatz-Trommelbrems-

belag nach der Regelung Nr. 90 

COMMUNICATION

issued by: 
Kraftfahrt-Bundesamt 

concerning approval extended   

replacement brake lining assembly or replacement drum brake lining 

pursuant to Regulation No. 90. 

Nummer der Genehmigung: 011441/001

Erweiterung: 01 
 .oN noisnetxE

 .oN lavorppA

1. 
Name und Anschrift d

es Antragstellers: 

Applicant's name and address: 

Specjalistyczne Materialy i Okladziny    

Cierne FRENOPLAST Bulhak i Cieslawski S.A.    

PL-12-100 SZCZYTNO

2. 
Name und Anschrift d

es Herstellers: 

Manufacturer's name and address: 

Specjalistyczne Materialy i Okladziny    

Cierne FRENOPLAST Bulhak i Cieslawski S.A.    

PL-12-100 SZCZYTNO

3. 
Marke und Typ der Bremsbelag-Einheit/des Trommelbremsbelags: 

Make and type of brake lining assembly/drum brake lining: 

WVA 29108 

4. 
Marke und Typ des Bremsbelages: 

Make and type of brake lining: 

FRENOPLAST SBP FR 166 

E1

Brake pads approval tests conducted 
in accordance with ECER90 by the 
renowned German research unit TϋV SϋD.  
The approval was issued by the KBA  
in Germany



BRAKE PADS
Kraftfahrt-Bundesamt

DE-24932 Flensburg 

MITTEILUNG

ausgestellt von: 

Kraftfahrt-Bundesamt 

über die Erweiterung der Genehmigung   

für eine Ersatz-Bremsbelag-Einheit oder einen Ersatz-Trommelbrems-

belag nach der Regelung Nr. 90 

COMMUNICATION

issued by: 
Kraftfahrt-Bundesamt 

concerning approval extended   

replacement brake lining assembly or replacement drum brake lining 

pursuant to Regulation No. 90. 

Nummer der Genehmigung: 011441/001

Erweiterung: 01 
 .oN noisnetxE

 .oN lavorppA

1. 
Name und Anschrift d

es Antragstellers: 

Applicant's name and address: 

Specjalistyczne Materialy i Okladziny    

Cierne FRENOPLAST Bulhak i Cieslawski S.A.    

PL-12-100 SZCZYTNO

2. 
Name und Anschrift d

es Herstellers: 

Manufacturer's name and address: 

Specjalistyczne Materialy i Okladziny    

Cierne FRENOPLAST Bulhak i Cieslawski S.A.    

PL-12-100 SZCZYTNO

3. 
Marke und Typ der Bremsbelag-Einheit/des Trommelbremsbelags: 

Make and type of brake lining assembly/drum brake lining: 

WVA 29108 

4. 
Marke und Typ des Bremsbelages: 

Make and type of brake lining: 

FRENOPLAST SBP FR 166 

E1

Brake pads approval tests conducted 
in accordance with ECER90 by the 
renowned German research unit TϋV SϋD.  
The approval was issued by the KBA  
in Germany

176.0

86.0

26.0

29088WVA

SBP no: 07-P29088

ECE R90 Certificate

www.sbp-brakes.com20
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.



211.0

92.5

30.0

29093/29095WVA

SBP no: 07-P29095

ECE R90 Certificate

www.sbp-brakes.com 21
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.

BRAKE PADS
Kraftfahrt-Bundesamt

DE-24932 Flensburg 

MITTEILUNG

ausgestellt von: 

Kraftfahrt-Bundesamt 

über die Erweiterung der Genehmigung   

für eine Ersatz-Bremsbelag-Einheit oder einen Ersatz-Trommelbrems-

belag nach der Regelung Nr. 90 

COMMUNICATION

issued by: 
Kraftfahrt-Bundesamt 

concerning approval extended   

replacement brake lining assembly or replacement drum brake lining 

pursuant to Regulation No. 90. 

Nummer der Genehmigung: 011441/001

Erweiterung: 01 
 .oN noisnetxE

 .oN lavorppA

1. 
Name und Anschrift d

es Antragstellers: 

Applicant's name and address: 

Specjalistyczne Materialy i Okladziny    

Cierne FRENOPLAST Bulhak i Cieslawski S.A.    

PL-12-100 SZCZYTNO

2. 
Name und Anschrift d

es Herstellers: 

Manufacturer's name and address: 

Specjalistyczne Materialy i Okladziny    

Cierne FRENOPLAST Bulhak i Cieslawski S.A.    

PL-12-100 SZCZYTNO

3. 
Marke und Typ der Bremsbelag-Einheit/des Trommelbremsbelags: 

Make and type of brake lining assembly/drum brake lining: 

WVA 29108 

4. 
Marke und Typ des Bremsbelages: 

Make and type of brake lining: 

FRENOPLAST SBP FR 166 

E1

Brake pads approval tests conducted 
in accordance with ECER90 by the 
renowned German research unit TϋV SϋD.  
The approval was issued by the KBA  
in Germany



BRAKE PADS
Kraftfahrt-Bundesamt

DE-24932 Flensburg 

MITTEILUNG

ausgestellt von: 

Kraftfahrt-Bundesamt 

über die Erweiterung der Genehmigung   

für eine Ersatz-Bremsbelag-Einheit oder einen Ersatz-Trommelbrems-

belag nach der Regelung Nr. 90 

COMMUNICATION

issued by: 
Kraftfahrt-Bundesamt 

concerning approval extended   

replacement brake lining assembly or replacement drum brake lining 

pursuant to Regulation No. 90. 

Nummer der Genehmigung: 011441/001

Erweiterung: 01 
 .oN noisnetxE

 .oN lavorppA

1. 
Name und Anschrift d

es Antragstellers: 

Applicant's name and address: 

Specjalistyczne Materialy i Okladziny    

Cierne FRENOPLAST Bulhak i Cieslawski S.A.    

PL-12-100 SZCZYTNO

2. 
Name und Anschrift d

es Herstellers: 

Manufacturer's name and address: 

Specjalistyczne Materialy i Okladziny    

Cierne FRENOPLAST Bulhak i Cieslawski S.A.    

PL-12-100 SZCZYTNO

3. 
Marke und Typ der Bremsbelag-Einheit/des Trommelbremsbelags: 

Make and type of brake lining assembly/drum brake lining: 

WVA 29108 

4. 
Marke und Typ des Bremsbelages: 

Make and type of brake lining: 

FRENOPLAST SBP FR 166 

E1

Brake pads approval tests conducted 
in accordance with ECER90 by the 
renowned German research unit TϋV SϋD.  
The approval was issued by the KBA  
in Germany

248.0

108.0

30.0

29087/29108WVA

SBP no: 07-P29108

ECE R90 Certificate

www.sbp-brakes.com22
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.



249.5

118.0

29.0

29125WVA

SBP no: 07-P29125

ECE R90 Certificate

www.sbp-brakes.com 23
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.

BRAKE PADS
Kraftfahrt-Bundesamt

DE-24932 Flensburg 

MITTEILUNG

ausgestellt von: 

Kraftfahrt-Bundesamt 

über die Erweiterung der Genehmigung   

für eine Ersatz-Bremsbelag-Einheit oder einen Ersatz-Trommelbrems-

belag nach der Regelung Nr. 90 

COMMUNICATION

issued by: 
Kraftfahrt-Bundesamt 

concerning approval extended   

replacement brake lining assembly or replacement drum brake lining 

pursuant to Regulation No. 90. 

Nummer der Genehmigung: 011441/001

Erweiterung: 01 
 .oN noisnetxE

 .oN lavorppA

1. 
Name und Anschrift d

es Antragstellers: 

Applicant's name and address: 

Specjalistyczne Materialy i Okladziny    

Cierne FRENOPLAST Bulhak i Cieslawski S.A.    

PL-12-100 SZCZYTNO

2. 
Name und Anschrift d

es Herstellers: 

Manufacturer's name and address: 

Specjalistyczne Materialy i Okladziny    

Cierne FRENOPLAST Bulhak i Cieslawski S.A.    

PL-12-100 SZCZYTNO

3. 
Marke und Typ der Bremsbelag-Einheit/des Trommelbremsbelags: 

Make and type of brake lining assembly/drum brake lining: 

WVA 29108 

4. 
Marke und Typ des Bremsbelages: 

Make and type of brake lining: 

FRENOPLAST SBP FR 166 

E1

Brake pads approval tests conducted 
in accordance with ECER90 by the 
renowned German research unit TϋV SϋD.  
The approval was issued by the KBA  
in Germany



BRAKE PADS
Kraftfahrt-Bundesamt

DE-24932 Flensburg 

MITTEILUNG

ausgestellt von: 

Kraftfahrt-Bundesamt 

über die Erweiterung der Genehmigung   

für eine Ersatz-Bremsbelag-Einheit oder einen Ersatz-Trommelbrems-

belag nach der Regelung Nr. 90 

COMMUNICATION

issued by: 
Kraftfahrt-Bundesamt 

concerning approval extended   

replacement brake lining assembly or replacement drum brake lining 

pursuant to Regulation No. 90. 

Nummer der Genehmigung: 011441/001

Erweiterung: 01 
 .oN noisnetxE

 .oN lavorppA

1. 
Name und Anschrift d

es Antragstellers: 

Applicant's name and address: 

Specjalistyczne Materialy i Okladziny    

Cierne FRENOPLAST Bulhak i Cieslawski S.A.    

PL-12-100 SZCZYTNO

2. 
Name und Anschrift d

es Herstellers: 

Manufacturer's name and address: 

Specjalistyczne Materialy i Okladziny    

Cierne FRENOPLAST Bulhak i Cieslawski S.A.    

PL-12-100 SZCZYTNO

3. 
Marke und Typ der Bremsbelag-Einheit/des Trommelbremsbelags: 

Make and type of brake lining assembly/drum brake lining: 

WVA 29108 

4. 
Marke und Typ des Bremsbelages: 

Make and type of brake lining: 

FRENOPLAST SBP FR 166 

E1

Brake pads approval tests conducted 
in accordance with ECER90 by the 
renowned German research unit TϋV SϋD.  
The approval was issued by the KBA  
in Germany

249.5

118.0

30.0

29131WVA

SBP no: 07-P29131

ECE R90 Certificate

www.sbp-brakes.com24
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.



204.5

96.7

29.8

29142WVA

SBP no: 07-P29142

ECE R90 Certificate

www.sbp-brakes.com 25
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.

BRAKE PADS
Kraftfahrt-Bundesamt

DE-24932 Flensburg 

MITTEILUNG

ausgestellt von: 

Kraftfahrt-Bundesamt 

über die Erweiterung der Genehmigung   

für eine Ersatz-Bremsbelag-Einheit oder einen Ersatz-Trommelbrems-

belag nach der Regelung Nr. 90 

COMMUNICATION

issued by: 
Kraftfahrt-Bundesamt 

concerning approval extended   

replacement brake lining assembly or replacement drum brake lining 

pursuant to Regulation No. 90. 

Nummer der Genehmigung: 011441/001

Erweiterung: 01 
 .oN noisnetxE

 .oN lavorppA

1. 
Name und Anschrift d

es Antragstellers: 

Applicant's name and address: 

Specjalistyczne Materialy i Okladziny    

Cierne FRENOPLAST Bulhak i Cieslawski S.A.    

PL-12-100 SZCZYTNO

2. 
Name und Anschrift d

es Herstellers: 

Manufacturer's name and address: 

Specjalistyczne Materialy i Okladziny    

Cierne FRENOPLAST Bulhak i Cieslawski S.A.    

PL-12-100 SZCZYTNO

3. 
Marke und Typ der Bremsbelag-Einheit/des Trommelbremsbelags: 

Make and type of brake lining assembly/drum brake lining: 

WVA 29108 

4. 
Marke und Typ des Bremsbelages: 

Make and type of brake lining: 

FRENOPLAST SBP FR 166 

E1

Brake pads approval tests conducted 
in accordance with ECER90 by the 
renowned German research unit TϋV SϋD.  
The approval was issued by the KBA  
in Germany



BRAKE PADS
Kraftfahrt-Bundesamt

DE-24932 Flensburg 

MITTEILUNG

ausgestellt von: 

Kraftfahrt-Bundesamt 

über die Erweiterung der Genehmigung   

für eine Ersatz-Bremsbelag-Einheit oder einen Ersatz-Trommelbrems-

belag nach der Regelung Nr. 90 

COMMUNICATION

issued by: 
Kraftfahrt-Bundesamt 

concerning approval extended   

replacement brake lining assembly or replacement drum brake lining 

pursuant to Regulation No. 90. 

Nummer der Genehmigung: 011441/001

Erweiterung: 01 
 .oN noisnetxE

 .oN lavorppA

1. 
Name und Anschrift d

es Antragstellers: 

Applicant's name and address: 

Specjalistyczne Materialy i Okladziny    

Cierne FRENOPLAST Bulhak i Cieslawski S.A.    

PL-12-100 SZCZYTNO

2. 
Name und Anschrift d

es Herstellers: 

Manufacturer's name and address: 

Specjalistyczne Materialy i Okladziny    

Cierne FRENOPLAST Bulhak i Cieslawski S.A.    

PL-12-100 SZCZYTNO

3. 
Marke und Typ der Bremsbelag-Einheit/des Trommelbremsbelags: 

Make and type of brake lining assembly/drum brake lining: 

WVA 29108 

4. 
Marke und Typ des Bremsbelages: 

Make and type of brake lining: 

FRENOPLAST SBP FR 166 

E1

Brake pads approval tests conducted 
in accordance with ECER90 by the 
renowned German research unit TϋV SϋD.  
The approval was issued by the KBA  
in Germany

173.6

84.0

34.0

29148WVA

SBP no: 07-P29148

ECE R90 Certificate

www.sbp-brakes.com26
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.



210.5

108.0

30.0

29158WVA

SBP no: 07-P29158

ECE R90 Certificate

www.sbp-brakes.com 27
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.

BRAKE PADS
Kraftfahrt-Bundesamt

DE-24932 Flensburg 

MITTEILUNG

ausgestellt von: 

Kraftfahrt-Bundesamt 

über die Erweiterung der Genehmigung   

für eine Ersatz-Bremsbelag-Einheit oder einen Ersatz-Trommelbrems-

belag nach der Regelung Nr. 90 

COMMUNICATION

issued by: 
Kraftfahrt-Bundesamt 

concerning approval extended   

replacement brake lining assembly or replacement drum brake lining 

pursuant to Regulation No. 90. 

Nummer der Genehmigung: 011441/001

Erweiterung: 01 
 .oN noisnetxE

 .oN lavorppA

1. 
Name und Anschrift d

es Antragstellers: 

Applicant's name and address: 

Specjalistyczne Materialy i Okladziny    

Cierne FRENOPLAST Bulhak i Cieslawski S.A.    

PL-12-100 SZCZYTNO

2. 
Name und Anschrift d

es Herstellers: 

Manufacturer's name and address: 

Specjalistyczne Materialy i Okladziny    

Cierne FRENOPLAST Bulhak i Cieslawski S.A.    

PL-12-100 SZCZYTNO

3. 
Marke und Typ der Bremsbelag-Einheit/des Trommelbremsbelags: 

Make and type of brake lining assembly/drum brake lining: 

WVA 29108 

4. 
Marke und Typ des Bremsbelages: 

Make and type of brake lining: 

FRENOPLAST SBP FR 166 

E1

Brake pads approval tests conducted 
in accordance with ECER90 by the 
renowned German research unit TϋV SϋD.  
The approval was issued by the KBA  
in Germany



BRAKE PADS
Kraftfahrt-Bundesamt

DE-24932 Flensburg 

MITTEILUNG

ausgestellt von: 

Kraftfahrt-Bundesamt 

über die Erweiterung der Genehmigung   

für eine Ersatz-Bremsbelag-Einheit oder einen Ersatz-Trommelbrems-

belag nach der Regelung Nr. 90 

COMMUNICATION

issued by: 
Kraftfahrt-Bundesamt 

concerning approval extended   

replacement brake lining assembly or replacement drum brake lining 

pursuant to Regulation No. 90. 

Nummer der Genehmigung: 011441/001

Erweiterung: 01 
 .oN noisnetxE

 .oN lavorppA

1. 
Name und Anschrift d

es Antragstellers: 

Applicant's name and address: 

Specjalistyczne Materialy i Okladziny    

Cierne FRENOPLAST Bulhak i Cieslawski S.A.    

PL-12-100 SZCZYTNO

2. 
Name und Anschrift d

es Herstellers: 

Manufacturer's name and address: 

Specjalistyczne Materialy i Okladziny    

Cierne FRENOPLAST Bulhak i Cieslawski S.A.    

PL-12-100 SZCZYTNO

3. 
Marke und Typ der Bremsbelag-Einheit/des Trommelbremsbelags: 

Make and type of brake lining assembly/drum brake lining: 

WVA 29108 

4. 
Marke und Typ des Bremsbelages: 

Make and type of brake lining: 

FRENOPLAST SBP FR 166 

E1

Brake pads approval tests conducted 
in accordance with ECER90 by the 
renowned German research unit TϋV SϋD.  
The approval was issued by the KBA  
in Germany

210.5

92.5

29.8

29159/29126WVA

SBP no: 07-P29159

ECE R90 Certificate

www.sbp-brakes.com28
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.



210.5

92.5

29.8

29162WVA

SBP no: 07-P29162

ECE R90 Certificate

www.sbp-brakes.com 29
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.

BRAKE PADS
Kraftfahrt-Bundesamt

DE-24932 Flensburg 

MITTEILUNG

ausgestellt von: 

Kraftfahrt-Bundesamt 

über die Erweiterung der Genehmigung   

für eine Ersatz-Bremsbelag-Einheit oder einen Ersatz-Trommelbrems-

belag nach der Regelung Nr. 90 

COMMUNICATION

issued by: 
Kraftfahrt-Bundesamt 

concerning approval extended   

replacement brake lining assembly or replacement drum brake lining 

pursuant to Regulation No. 90. 

Nummer der Genehmigung: 011441/001

Erweiterung: 01 
 .oN noisnetxE

 .oN lavorppA

1. 
Name und Anschrift d

es Antragstellers: 

Applicant's name and address: 

Specjalistyczne Materialy i Okladziny    

Cierne FRENOPLAST Bulhak i Cieslawski S.A.    

PL-12-100 SZCZYTNO

2. 
Name und Anschrift d

es Herstellers: 

Manufacturer's name and address: 

Specjalistyczne Materialy i Okladziny    

Cierne FRENOPLAST Bulhak i Cieslawski S.A.    

PL-12-100 SZCZYTNO

3. 
Marke und Typ der Bremsbelag-Einheit/des Trommelbremsbelags: 

Make and type of brake lining assembly/drum brake lining: 

WVA 29108 

4. 
Marke und Typ des Bremsbelages: 

Make and type of brake lining: 

FRENOPLAST SBP FR 166 

E1

Brake pads approval tests conducted 
in accordance with ECER90 by the 
renowned German research unit TϋV SϋD.  
The approval was issued by the KBA  
in Germany



BRAKE PADS
Kraftfahrt-Bundesamt

DE-24932 Flensburg 

MITTEILUNG

ausgestellt von: 

Kraftfahrt-Bundesamt 

über die Erweiterung der Genehmigung   

für eine Ersatz-Bremsbelag-Einheit oder einen Ersatz-Trommelbrems-

belag nach der Regelung Nr. 90 

COMMUNICATION

issued by: 
Kraftfahrt-Bundesamt 

concerning approval extended   

replacement brake lining assembly or replacement drum brake lining 

pursuant to Regulation No. 90. 

Nummer der Genehmigung: 011441/001

Erweiterung: 01 
 .oN noisnetxE

 .oN lavorppA

1. 
Name und Anschrift d

es Antragstellers: 

Applicant's name and address: 

Specjalistyczne Materialy i Okladziny    

Cierne FRENOPLAST Bulhak i Cieslawski S.A.    

PL-12-100 SZCZYTNO

2. 
Name und Anschrift d

es Herstellers: 

Manufacturer's name and address: 

Specjalistyczne Materialy i Okladziny    

Cierne FRENOPLAST Bulhak i Cieslawski S.A.    

PL-12-100 SZCZYTNO

3. 
Marke und Typ der Bremsbelag-Einheit/des Trommelbremsbelags: 

Make and type of brake lining assembly/drum brake lining: 

WVA 29108 

4. 
Marke und Typ des Bremsbelages: 

Make and type of brake lining: 

FRENOPLAST SBP FR 166 

E1

Brake pads approval tests conducted 
in accordance with ECER90 by the 
renowned German research unit TϋV SϋD.  
The approval was issued by the KBA  
in Germany

211.0

92.0

30.0

29165WVA

SBP no: 07-P29165

ECE R90 Certificate

www.sbp-brakes.com30
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.



248.0

109.5

30.0

29167WVA

SBP no: 07-P29167

ECE R90 Certificate

www.sbp-brakes.com 31
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.

BRAKE PADS
Kraftfahrt-Bundesamt

DE-24932 Flensburg 

MITTEILUNG

ausgestellt von: 

Kraftfahrt-Bundesamt 

über die Erweiterung der Genehmigung   

für eine Ersatz-Bremsbelag-Einheit oder einen Ersatz-Trommelbrems-

belag nach der Regelung Nr. 90 

COMMUNICATION

issued by: 
Kraftfahrt-Bundesamt 

concerning approval extended   

replacement brake lining assembly or replacement drum brake lining 

pursuant to Regulation No. 90. 

Nummer der Genehmigung: 011441/001

Erweiterung: 01 
 .oN noisnetxE

 .oN lavorppA

1. 
Name und Anschrift d

es Antragstellers: 

Applicant's name and address: 

Specjalistyczne Materialy i Okladziny    

Cierne FRENOPLAST Bulhak i Cieslawski S.A.    

PL-12-100 SZCZYTNO

2. 
Name und Anschrift d

es Herstellers: 

Manufacturer's name and address: 

Specjalistyczne Materialy i Okladziny    

Cierne FRENOPLAST Bulhak i Cieslawski S.A.    

PL-12-100 SZCZYTNO

3. 
Marke und Typ der Bremsbelag-Einheit/des Trommelbremsbelags: 

Make and type of brake lining assembly/drum brake lining: 

WVA 29108 

4. 
Marke und Typ des Bremsbelages: 

Make and type of brake lining: 

FRENOPLAST SBP FR 166 

E1

Brake pads approval tests conducted 
in accordance with ECER90 by the 
renowned German research unit TϋV SϋD.  
The approval was issued by the KBA  
in Germany



BRAKE PADS
Kraftfahrt-Bundesamt

DE-24932 Flensburg 

MITTEILUNG

ausgestellt von: 

Kraftfahrt-Bundesamt 

über die Erweiterung der Genehmigung   

für eine Ersatz-Bremsbelag-Einheit oder einen Ersatz-Trommelbrems-

belag nach der Regelung Nr. 90 

COMMUNICATION

issued by: 
Kraftfahrt-Bundesamt 

concerning approval extended   

replacement brake lining assembly or replacement drum brake lining 

pursuant to Regulation No. 90. 

Nummer der Genehmigung: 011441/001

Erweiterung: 01 
 .oN noisnetxE

 .oN lavorppA

1. 
Name und Anschrift d

es Antragstellers: 

Applicant's name and address: 

Specjalistyczne Materialy i Okladziny    

Cierne FRENOPLAST Bulhak i Cieslawski S.A.    

PL-12-100 SZCZYTNO

2. 
Name und Anschrift d

es Herstellers: 

Manufacturer's name and address: 

Specjalistyczne Materialy i Okladziny    

Cierne FRENOPLAST Bulhak i Cieslawski S.A.    

PL-12-100 SZCZYTNO

3. 
Marke und Typ der Bremsbelag-Einheit/des Trommelbremsbelags: 

Make and type of brake lining assembly/drum brake lining: 

WVA 29108 

4. 
Marke und Typ des Bremsbelages: 

Make and type of brake lining: 

FRENOPLAST SBP FR 166 

E1

Brake pads approval tests conducted 
in accordance with ECER90 by the 
renowned German research unit TϋV SϋD.  
The approval was issued by the KBA  
in Germany

210.7

108.0

30.0

29171WVA

SBP no: 07-P29171

ECE R90 Certificate

www.sbp-brakes.com32
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.



210.7

108.0

29.2

29173WVA

SBP no: 07-P29173

ECE R90 Certificate

www.sbp-brakes.com 33
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.

BRAKE PADS
Kraftfahrt-Bundesamt

DE-24932 Flensburg 

MITTEILUNG

ausgestellt von: 

Kraftfahrt-Bundesamt 

über die Erweiterung der Genehmigung   

für eine Ersatz-Bremsbelag-Einheit oder einen Ersatz-Trommelbrems-

belag nach der Regelung Nr. 90 

COMMUNICATION

issued by: 
Kraftfahrt-Bundesamt 

concerning approval extended   

replacement brake lining assembly or replacement drum brake lining 

pursuant to Regulation No. 90. 

Nummer der Genehmigung: 011441/001

Erweiterung: 01 
 .oN noisnetxE

 .oN lavorppA

1. 
Name und Anschrift d

es Antragstellers: 

Applicant's name and address: 

Specjalistyczne Materialy i Okladziny    

Cierne FRENOPLAST Bulhak i Cieslawski S.A.    

PL-12-100 SZCZYTNO

2. 
Name und Anschrift d

es Herstellers: 

Manufacturer's name and address: 

Specjalistyczne Materialy i Okladziny    

Cierne FRENOPLAST Bulhak i Cieslawski S.A.    

PL-12-100 SZCZYTNO

3. 
Marke und Typ der Bremsbelag-Einheit/des Trommelbremsbelags: 

Make and type of brake lining assembly/drum brake lining: 

WVA 29108 

4. 
Marke und Typ des Bremsbelages: 

Make and type of brake lining: 

FRENOPLAST SBP FR 166 

E1

Brake pads approval tests conducted 
in accordance with ECER90 by the 
renowned German research unit TϋV SϋD.  
The approval was issued by the KBA  
in Germany



BRAKE PADS
Kraftfahrt-Bundesamt

DE-24932 Flensburg 

MITTEILUNG

ausgestellt von: 

Kraftfahrt-Bundesamt 

über die Erweiterung der Genehmigung   

für eine Ersatz-Bremsbelag-Einheit oder einen Ersatz-Trommelbrems-

belag nach der Regelung Nr. 90 

COMMUNICATION

issued by: 
Kraftfahrt-Bundesamt 

concerning approval extended   

replacement brake lining assembly or replacement drum brake lining 

pursuant to Regulation No. 90. 

Nummer der Genehmigung: 011441/001

Erweiterung: 01 
 .oN noisnetxE

 .oN lavorppA

1. 
Name und Anschrift d

es Antragstellers: 

Applicant's name and address: 

Specjalistyczne Materialy i Okladziny    

Cierne FRENOPLAST Bulhak i Cieslawski S.A.    

PL-12-100 SZCZYTNO

2. 
Name und Anschrift d

es Herstellers: 

Manufacturer's name and address: 

Specjalistyczne Materialy i Okladziny    

Cierne FRENOPLAST Bulhak i Cieslawski S.A.    

PL-12-100 SZCZYTNO

3. 
Marke und Typ der Bremsbelag-Einheit/des Trommelbremsbelags: 

Make and type of brake lining assembly/drum brake lining: 

WVA 29108 

4. 
Marke und Typ des Bremsbelages: 

Make and type of brake lining: 

FRENOPLAST SBP FR 166 

E1

Brake pads approval tests conducted 
in accordance with ECER90 by the 
renowned German research unit TϋV SϋD.  
The approval was issued by the KBA  
in Germany

249.5

109.7

30.0

29174WVA

SBP no: 07-P29174

ECE R90 Certificate

www.sbp-brakes.com34
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.



216

83.3

29.3

29211WVA

SBP no: 07-P29211

ECE R90 Certificate

www.sbp-brakes.com 35
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.

BRAKE PADS
Kraftfahrt-Bundesamt

DE-24932 Flensburg 

MITTEILUNG

ausgestellt von: 

Kraftfahrt-Bundesamt 

über die Erweiterung der Genehmigung   

für eine Ersatz-Bremsbelag-Einheit oder einen Ersatz-Trommelbrems-

belag nach der Regelung Nr. 90 

COMMUNICATION

issued by: 
Kraftfahrt-Bundesamt 

concerning approval extended   

replacement brake lining assembly or replacement drum brake lining 

pursuant to Regulation No. 90. 

Nummer der Genehmigung: 011441/001

Erweiterung: 01 
 .oN noisnetxE

 .oN lavorppA

1. 
Name und Anschrift d

es Antragstellers: 

Applicant's name and address: 

Specjalistyczne Materialy i Okladziny    

Cierne FRENOPLAST Bulhak i Cieslawski S.A.    

PL-12-100 SZCZYTNO

2. 
Name und Anschrift d

es Herstellers: 

Manufacturer's name and address: 

Specjalistyczne Materialy i Okladziny    

Cierne FRENOPLAST Bulhak i Cieslawski S.A.    

PL-12-100 SZCZYTNO

3. 
Marke und Typ der Bremsbelag-Einheit/des Trommelbremsbelags: 

Make and type of brake lining assembly/drum brake lining: 

WVA 29108 

4. 
Marke und Typ des Bremsbelages: 

Make and type of brake lining: 

FRENOPLAST SBP FR 166 

E1

Brake pads approval tests conducted 
in accordance with ECER90 by the 
renowned German research unit TϋV SϋD.  
The approval was issued by the KBA  
in Germany



BRAKE PADS WEAR SENSORS

SBP OE no Application Length [mm]

WIC033 SH series, SAF: SK RB, SK RS, SK RZ 360

BPW

DAF

IVECO

SBP OE no Application Length [mm]

WIC020 LF45 330

SBP OE no Application Length [mm]

WIC001 1908407 
42548208 IVECO Eurocargo 65/75E12-14 500

WIC002 1908825 IVECO EUROTECH 490

WIC012 1908231 EUROCARGO 125

WIC017 1903651 EUROTECH 290

WIC018 1906462 EuroCargo 150

WIC019 42548195 DAILY S2000 300

WIC028 2992666 TECTOR 1300

WIC031 1 388 953 Eurocargo, Eurostar, Eurotech, Eurotrakke 270

WIC046 Daily

www.sbp-brakes.com36
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.



MAN

MERCEDES

RVI

SBP OE no Application Length [mm]

WIC010 81.50811.0004 F/M2000 360

WIC022 81.50822.6014 6-10.103/113/153/163/223 315

WIC024 81.50822.6017 MAN L2000  NU263/313 310

WIC035 81.50822.6029 350

WIC037 xx.163/224/264/284(95-), 24/26 385

WIC045 81.50822.6016 L2000  NU263/313 358

WIC047 F2000 (FE) (D-ELSA2 Caliper) 94-05

SBP OE no Application Length [mm]

WIC007 6695400417 
6695400517 VARIO 512D,612/4D,812/4D(8/96-) 530

WIC040 2D0 919 351 VITO/SPRINTER 185

SBP OE no Application Length [mm]

WIC011 5001822987 AE-MAGNUM 380

WIC016 5001834075 PREMIUM 280

WIC023 AE E.TECH (05/00-), PREMIUM (04/96-, 0 340

WIC025 68325408 Premium 350

WIC032 5001831161 AE, PREMIUM (07/95-) 360

WIC044 RVI MASCOTT (01/99-) 260

www.sbp-brakes.com 37
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.

BRAKE PADS WEAR SENSORS



A – Diameter Ø [mm]
B - Brake Surface [mm]
C - Pitch Circle Ø [mm]
H - Height [mm]
D - Height [mm]

D

O-N

B

C A

H

BRAKE DRUMS

BPW

SBP no Original No MODEL A B C H D Hole 
dimension Studs

01-BP001 0310967190 420 x 180 mm 420,2 191,5 290 226 226 23 10

01-BP002 0310967130 420 z 192 mm 420,2 191 290 226 226 23 10

01-BP003 0310667120 420 x 180 mm 420 195,5 290 246 246 23 10

01-BP004 0310546290 300 x 215,4 mm 300 210,5 190 260 260 23 10

01-BP005 0310677570 420 x 200 mm 420 213 290 257 257 23 10

01-BP006 0310677520 420 x 217 mm 420 215 290 284 284 23 10

01-BP007 0310677040 420 x 210 mm 420 216,5 290 275 275 23 10

01-BP008 0310946060 300 x 209 mm 300,2 210 190 260 260 23 10

01-BP009 0310590020 360 x 200 mm 360 209 230 262 262 23 8

01-BP010 0310967820 420 x 180 mm 420 194 290 230 230 23 10

www.sbp-brakes.com38
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.



DAF

FRUEHAUF

SBP no Original No MODEL A B C H D Hole 
dimension Studs

01-DA001 1233462 DAF 95 
(420 x 167,4 mm) 420 163 285 230 335 24 10

01-DA002 0754397
65 CF, 75 CF, 85 CF, 

95 XF 
(420 x 200 mm)

420 213 285 287,5 335 24 10

01-DA003 365579 DAF 95 
(420 x 213 mm) 420 216 285 287,5 335 24 10

01-DA004 1232806 75 CF, 85 CF, 95 XF 
(420 x 180 mm) 420 192 285 251,3 335 24 10

01-DA005 0395247 F2100, F2300, F2700 
(420 x 240 mm) 420 250 285 313 335 24 10

01-DA006 0090500 75 CF, 85 CF, 95 XF 
(420 x 187 mm) 420 188 285 239,5 335 24 10

01-DA007 RAK 7501 45, 55, FA100 325 160 210.5 223 275 8 22

SBP no Original No MODEL A B C H D Hole 
dimension Studs

01-FR001 AJB 0465002 SMB / Trailor / Fruehauf 
(419 x 200 mm) 419 215 288 256 335 26,5 10

01-FR002 AJB 0026001 SMB / Trailor / Fruehauf  
(419 x 178 mm) 419 191,5 288 229 335 26 10

01-FR003 AJA 0489001 SMB / Trailor / Fruehauf  
(419 x 178 mm) 419 191 288 271 335 26 10

www.sbp-brakes.com 39
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.

BRAKE DRUMS

A – Diameter Ø [mm]
B - Brake Surface [mm]
C - Pitch Circle Ø [mm]
H - Height [mm]
D - Height [mm]

D

O-N

B

C A

H



A – Diameter Ø [mm]
B - Brake Surface [mm]
C - Pitch Circle Ø [mm]
H - Height [mm]
D - Height [mm]

D

O-N

B

C A

H

BRAKE DRUMS

IVECO

SBP no Original No MODEL A B C H D Hole 
dimension Studs

01-IV001 7172079 410 x 200 mm 410 208 285 258 335 23 10

01-IV002 2479853 381 x 178 mm 381 188 285 272 335 23 10

MAN

SBP no Original No MODEL A B C H D Hole 
dimension Studs

01-MA001 81.50110.0144 SR240/280,SL200,SU240 
(410 x 234 mm) 410 232 298 300 300 23 10

01-MA002 81.50110.0227
M90, TGA, TGS, TGX, 

Lions Classic, SUE, UEL 
(410 x 180 mm)

410 188 298 232 232 23 10

01-MA003 81.50110.0195 G90, L2000 
(325 x 150 mm) 325 155 204 192 192 20 6

01-MA004 81.50110.0226
M90, EL, ND, NG, NGT, 

NL, NM, SG, SL, SR, SUE 
(410 x 164 mm)

410 167 213 298 298 10 23

01-MA005 81.50110.0213

F90, L2000, M2000L, 
M2000M, M90, TGA, 

TGM, TGS 
(410 x 160 mm)

410 173,5 298 250 250 23 10

01-MA006 81.50110.0237
L2000, M2000L, 

M2000M 
(360 x 180 mm)

360 189 230 247 247 22 8

01-MA007 81.50110.0212 L2000, M2000L, M90,  
(360 x 160 mm) 360 174 230 242 242 22 8

www.sbp-brakes.com40
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.



MERCEDES

SBP no Original No MODEL A B C H D Hole 
dimension Studs

01-ME001 675 334 01 04 LK, O 814, O 817 
(308 x 120 mm) 308 130 100 179 205 18 6

01-ME002 624 421 02 01
O 303, O 370, O 371,  
O 373, O 374, O 400 

(410 x 180 mm)
410 192 298 237 335 23 10

01-ME003 670 356 00 02
O 301, O 402, O 814, T2, 

Vario
(300 x 120 mm)

300 132 HUB 205 #N/D #N/D #N/D

01-ME004 677 421 01 01

Actros, Atego, LK, LN, 
O 301, O 303, O 814, SK, 

Vario
(363 x 160 mm)

364 172 238 209,5 275 21 8

01-ME005 305 423 03 01
Actros, Atego up to 18 t, 
Axor, Conecto, MK, NG 

(410 x 220 mm)
410 238 298 306 335 23 10

01-ME006 677 421 02 01
Atego, LK, LN, O 301,  

O 303, O 402, O 814, O 817 
(364 x 132 mm)

364 142 238 193 275 21 8

01-ME007 346 423 01 01
Actros, Atego, Axor, 

MK, NG
(410 x 180 mm)

410 192 298 280 335 23 10

01-ME008 305 421 01 01
Atego, Axor, Conecto, 

MK, NG, Tourismo
(410 x 160mm)

410 167 298 213 335 23 10

01-ME009 301 423 08 01
Axor, LK, MK, NG,  

O 302, O 303
(410 x 220 mm)

410 238 298 306 335 23 10

01-ME010 305 421 00 01
Atego, Axor, MK, NG,  
O 170, O 302, O 303 

(410 x 160 mm)
410 172 298 228 335 23 10

01-ME011 346 423 00 01 MK, NG, SK 
(410 x 160 mm) 410 173 298 270 335 23 10

01-ME012 611 356 09 02 407-410,507/10 
(270 x 80 mm) 270 90 90 21 205 6 x 14mm

6 x M10

www.sbp-brakes.com 41
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.

BRAKE DRUMS

A – Diameter Ø [mm]
B - Brake Surface [mm]
C - Pitch Circle Ø [mm]
H - Height [mm]
D - Height [mm]

D

O-N

B

C A

H



A – Diameter Ø [mm]
B - Brake Surface [mm]
C - Pitch Circle Ø [mm]
H - Height [mm]
D - Height [mm]

D

O-N

B

C A

H

BRAKE DRUMS

NEOPLAN

SBP no Original No MODEL A B C H D Hole 
dimension Studs

01-NE001 4462.322.131 (410 x 220 mm) 410 230 282 275,5 335 23 10

ROR

SBP no Original No MODEL A B C H D Hole 
dimension Studs

01-RO001 21220183V (419 x 178 mm) 419,1 188 282,6 238 335 24,25 10

01-RO002 21021114A TA, TC, TM  
(419 x 220 mm) 419,1 230 282,6 272 335 24,5 10

01-RO003 21018986V TA, TC, TM  
(419 x 180 mm) 419,1 199 282,6 248 335 24,5 10

01-RO004 21018963 (311 x 178 mm) 311,15 201,5 182,88 260 225 24,25 10

01-RO005 21211030 TM  
(351 x 200 mm) 351 207 182,88 263 225 24,25 10

01-RO006 21018963S (311 x 190 mm) 311 207 183 260 225 24,4 10

www.sbp-brakes.com42
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.



RENAULT

SAF

SBP no Original No MODEL A B C H D Hole 
dimension Studs

01-SA001 1 064 0260 01
SK RLS, SK RS, SK RS 

INTRAAX 
(420 x 180 mm)

420 195 300 226,5 335 23 10

01-SA002 1 064 0273 00 SK RS, SK RZ 
(300 x 200 mm) 300 212 190 280 225 23 10

01-SA003 1 064 0060 02 (420 x 180 mm) 420 192 290 227 335 23 10

01-SA004 1 064 0108 01
RLSM, RSM, RZM, 

WRZM 
(420 x 200 mm)

420 211 290 256 335 23 10

01-SA005 1 064 0270 00
SK RLS, SK RS, SK RZ, 

KRS 
(420 x 200 mm)

420 217,5 300 256 335 23 10

01-SA006 1 064 0236 01 RLSM, RSM 
(420 x 180 mm) 420 192 290 227 335 23 10

01-SA007 1 064 0197 00 WRLZM, WRZM 
(300 x 200 mm) 300 210 190 280 225 23 10

SBP no Original No MODEL A B C H D Hole 
dimension Studs

01-RV001 5010098949
Kerax, Magnum AE, 

Puncher, Premium TR/
PR (414 x 220 mm)

414 232 280,8 278 335 26,5 10

01-RV002 501136146
Magnum E. TECH, 
Manager G, Major  

(414 x 180 mm)
414 189 280,8 255 335 25 10

01-RV003 5000737768

Kerax, Magnum AE/E.
TECH, Manager G, 
Maxter, Major-R, 

Premium  
(414 x 170 mm)

414 182 280,8 230 335 25 10

www.sbp-brakes.com 43
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.

BRAKE DRUMS

A – Diameter Ø [mm]
B - Brake Surface [mm]
C - Pitch Circle Ø [mm]
H - Height [mm]
D - Height [mm]

D

O-N

B

C A

H



A – Diameter Ø [mm]
B - Brake Surface [mm]
C - Pitch Circle Ø [mm]
H - Height [mm]
D - Height [mm]

D

O-N

B

C A

H

BRAKE DRUMS

SCANIA

SETRA

SBP no Original No MODEL A B C H D Hole 
dimension Studs

01-SC001 1414152
Serie P,G,R,T, Serie 3, 

Serie 4 
(413 x 178 mm)

412,75 189 295 263 335 23,5 10

01-SC002 1414153
Serie P,G,R,T, Serie 3, 

Serie 4 
(413 x 203 mm)

412,75 213 295 275 335 23,5 10

01-SC003 305438
Serie P,G,R,T, Serie 3, 

Serie 4 
(413 x 254 mm)

412,75 266 295 320,5 335 23,5 10

01-SC004 392390
Serie P,G,R,T, Serie 2, 

Serie 3, Serie 4 
(413 x 254 mm)

412,75 192,5 295 253 335 23 10

01-SC005 277308 Serie 3, Serie 
(413 x 203 mm) 413 216 295 296 335 23,5 10

01-SC006 1414435

SBP no Original No MODEL A B C H D Hole 
dimension Studs

01-SE001 179.25.20.114-11

EVO-BUS, 
ComfortClass, 

MultiClass, Integro, 
Intouro (410 x 220 mm)

410 229 290 282 335 23 10

www.sbp-brakes.com44
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.



TRAILOR

VOLVO

SBP no Original No MODEL A B C H D Hole 
dimension Studs

01-TR001

650 2796 E
650 2781 X650 

2796 E
650 2781 X

(419 x 178 mm) 419 184 290 225 335 27 10

SBP no Original No MODEL A B C H D Hole 
dimension Studs

01-VO001 3171744

FH 12/16, FL 6/7/10/12, 
FM 7/9/10/12, NH 12, 

NL10, NL12 
(410 x 175 mm)

410 199 282 260 335 28 10

01-VO002 1599009

FH 12/16, FL 6/7/10/12, 
FM 7/9/10/12, NH 12, 

NL10, NL12 
(410 x 175 mm)

410 195 282 262 335 28 10

01-VO003 1599012

B 10B, B 12, F 10/12/16, 
FH 12/16, FL 7/10/12, 
NH 12, NL10, NL12 

(410 x 225 mm)

410 231 282 307 335 28 10

01-VO004 3171745

FH 12/16, FL 6/7/10/12, 
FM 7/9/10/12, NH 12, 

NL10, NL12 
(410 x 200 mm)

410 210 282 273 335 28 10

01-VO005 1599011

FH 12/16, FL 6/7/10/12, 
FM 7/9/10/12, NH 12, 

NL10, NL12
(410 x 200 mm)

410 215 282 295 335 28 10

01-VO006 15990104

B 10B, B 12, F 10, F 12, 
F 16, FH 12, FH 16, FL 

10, FL 7, NH 12 
(410 x 200 mm)

410 206 282 274 335 28 10

01-VO007 1590313

B 10B, B 10M, B 10R, B 
12, B 12M, B 58, B 7, B 

7F, B 7R, F 12 
(394 x 254 mm)

394 266 282 314 335 28 10

01-VO008 1584131 (394 x 203) 394 215 282 289 335 28 10

01-VO009 3171747

FH 12/16, FL 6/7/10/12, 
FM 7/9/10/12, NH 12, 

NL10, NL12 
(410 x 200 mm)

410 215 282 294 335 28 10

01-VO010 6772133 B 6, FL 6 
(360 x 160 mm) 360 185 228 247 275 21,5 8

www.sbp-brakes.com 45
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.

BRAKE DRUMS

A – Diameter Ø [mm]
B - Brake Surface [mm]
C - Pitch Circle Ø [mm]
H - Height [mm]
D - Height [mm]

D

O-N

B

C A

H



BRAKE SHOES

SBP no OE no MODEL SIZE RIVETS

03-BP001 05.091.46.17.0 ECO 03/95- 420 x 180 mm 20 x 8 mm

03-BP002 05.091.14.80.0 ECO 03/-95 300 x 200 mm 16 x 8 mm

03-BP003 05.091.26.64.2 EH, H (83-94) 420 x 180 mm 20 x 8 mm

03-BP004 05.091.27.54.2 EH, H (83-94) 420 x 200 mm 20 x 8 mm

03-BP005 05.091.14.19.0 KM, KR, NM, NR, NRD (82- 89) 300 x 200 mm 16 x 8 mm

03-BP006 05.091.14.46.0 KM, KR, NM, NR, NRD (90-) 300 x 200 mm 16 x 8 mm

BPW

03-BP004 03-BP005 03-BP006

03-BP002 03-BP00303-BP001

www.sbp-brakes.com46
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.



SBP no OE no MODEL SIZE RIVETS

03-RO001 15206005 Serie III, TM 310 x 190 mm 20 x 5,3 mm

03-RO002 15205533 TM, TA, TC, TE 420 x 180 mm 32 x 6,3 mm

03-RO003 15205191 TM, TA, TC 420 x 220 mm 32 x 6,3 mm

03-RO004 15224724 LC, LM, TM 420 x 180 mm 32 x 6,3 mm

SBP no OE no MODEL SIZE RIVETS

03-FR001 A-JA-0508-004 311 x 203 mm 24 x 5,2 mm

03-FR002 A-JA-0508-001 419 x 178 mm 24 x 5,2 mm

03-FR003 6504787 419 x 203 mm 32 x 5,2 mm

SMB / FRUEHAUF/ TRAILOR

ROR

03-FR001

03-RO001

03-FR003

03-RO003 03-RO004

03-FR002

03-RO002

www.sbp-brakes.com 47
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.

BRAKE SHOES



BRAKE SHOES

SBP no OE no MODEL SIZE RIVETS

03-SA001 3 055 0052 00 RBM, RLBM, RLSM, RSM, RZM, WRZM 420 x 180 mm 20 x 8,5 mm

03-SA002 3 054 0053 00 RLSM, RSM, RZM, RZT, WRZM 420 x 200 mm 20 x 8 mm

03-SA003 3 054 0120 00 INTRAAX, KRS, SK RLS, SK RS, SK RZ 420 x 180 mm 16 x 8 mm

03-SA004 3 054 0129 01 SK RS, SK RZ 300 x 200 mm 16 x 8 mm

SBP no OE no MODEL SIZE RIVETS

03-VO001 3090075 F 10/12/16, FH 12/16, FL 6/7/10/12, NH 12, 
NL10/12 410 x 175 mm 24 x 6,5 mm

03-VO002 3090076 F 10/12/16, FH 12/16, FL 6/7/10/12, NH 12, 
NL10/12 410 x 200 mm 24 x 6,5 mm

03-VO003 3090077 F 10/12/16, FH 12/16, FL 6/7/10/12, NH 12, 
NL10/13 410 x 225 mm 24 x 6,5 mm

SAF

VOLVO

03-VO001

03-SA001

03-VO003

03-SA003 03-SA004

03-VO002

03-SA002

www.sbp-brakes.com48
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.



Left Right
B
A
C

D

04-BP001 04-BP002

SBP no OE no Side A B C D Spline

04-BP001 09.097.05.21.0 Left

625 634 509,5 42 10

04-BP002 09.097.05.22.0 Right

04-BP003 05.097.05.23.1 Left

638 647 522,5 42 10

04-BP004 09.097.05.24.0 Right

04-BP005 05.097.05.25.3 Left

663 672 547,5 42 10

04-BP006 05.097.05.26.3 Right

04-BP007 05.097.05.29.1 Left

731 740 615,5 42 10

04-BP008 05.097.05.30.1 Right

04-BP009 05.097.05.39.1 Left

676 557,5 42 10

04-BP010 05.097.05.40.3 Right

04-BP011 05.097.05.47.1 Left

600 609 484,5 42 10

04-BP012 05.097.05.48.1 Right

04-BP013 05.097.05.13.1 Left

538 547 422,5 42 10

04-BP014 05.097.05.14.1 Right

04-BP015 05.097.05.17.1 Left

585 594 469,5 42 10

04-BP016 05.097.05.18.1 Right

www.sbp-brakes.com 49
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.

CAMSHAFTS



CAMSHAFTS

Left Right
B
A
C

D

SBP no OE no Side A B C D Spline

04-MA001 81.50301.0262 Right

500 540 42 26

04-MA002 81.50301.0113 Left

04-MA003 81.50301.0271 Left

476 525 42

04-MA004 81.50301.0272 Right

SBP no OE no Side A B C D Spline

04-ME001 623 421 06 36 Left

290 42

04-ME002 623 421 05 36 Right

04-MA001

04-ME001

04-MA002

04-ME002

Left Right
B
A
C

D

www.sbp-brakes.com50
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.



Left Right
B
A
C

D

04-RO001 04-RO002

SBP no OE no Side A B C D Spline

04-RO001 21221194 Right

605 632 587,5 42 10

04-RO002 21221195 Left

04-RO003 21219321 Left

656,5 587,5 42 10

04-RO004 21219322 Right

04-RO005 21219335

10

04-RO006 21219336

04-RO007 21219337 Left

10

04-RO008 21219338 Right

04-RO009 21227081 Right

632 587,5 42 10

04-RO010 21227080 Left

04-RO011 21224793 Left

542 572 525,5 42 10

04-RO012 21224794 Right

04-RO013 21224795 Right

604 634 587,5 42 10

04-RO014 21224796 Left

04-RO015 21219279 Left

605 632 587,5 42 10

04-RO016 21219280 Right

04-RO017 21221070 Right

545 572 525,5 42 10

04-RO018 21221071 Left

www.sbp-brakes.com 51
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.

CAMSHAFTS



CAMSHAFTS

Left Right
B
A
C

D

04-SA001 04-SA002

SBP no OE no Side A B C D Spline

04-SA001 2 262 0283 02 Left

672 704 655 38 10

04-SA002 2 262 0284 02 Right

04-SA003 2 262 1102 02 Right

677 720 663 45 10

04-SA004 2 262 1103 02 Left

04-SA005 3 262 0272 01 Right

646 678 629 38 10

04-SA006 3 262 0271 01 Left

04-SA007 2 262 1103 01 Left

678 720 664 56 10

04-SA008 2 262 1102 01 Right

04-SA009 3 262 0286 01 Right

602 634 585 38 10

04-SA010 3 262 0285 01 Left

www.sbp-brakes.com52
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.



Left Right
B
A
C

D

SBP no OE no Side A B C D Spline

04-SM001 CF100130 Right

560 590 540 42 37

04-SM002 CF100129 Left

04-SM003 CF103318 Right

605 635 584 38 10

04-SM004 CF103317 Left

04-SM005 CF103320 Right

609 635 589 38 10

04-SM006 CF103319 Left

04-SM007 6503391M Left

602 634 585 38 10

04-SM008 6503390L Right

04-SM001 04-SM002

www.sbp-brakes.com 53
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.

CAMSHAFTS



BRAKE CHAMBERS

SBP no size 
THE ERECTION BOLT SIZE CONECTION CONNECT THE FORK THROWOUT LEVER 

α ᵦ STROKE 
A B C K D E M L1 L2

05-BCT9LS T9 76.2 2-M12x1.5 25 M16X1.5 M16X1.5 195 0° 135˚ 57
05-BCT12-K01 T12 76.2 2-M16X1.5 38 2-M16X1.5 14 x 65 14.00 M16 x 1.5 200 90˚ 90˚ 68
05-BCT16LS T16 76.2 2-M16X1.5 38 2-M16X1.5 14 x 65 14.00 M16 x 1.5 193 180˚ 45˚ 80
05-BCT20LS T20 120.7 2 x M16 x 1.25 38 2 x M16 x 1.25 14 x 65 14.00 M16 x 1.5 197 180˚ 45˚ 74
05-BCT24LS T24 120.7 2-M16X1.5 38 2-M16X1.5 14 x 65 14.00 M16 x 1.5 198 180˚ 45˚ 80
05-BCT30LS T30 120.7 2-M16X1.5 38 2-M16X1.5 14 x 65 14.50 M16 x 1.5 190 45˚ 45˚ 75

Single brake chambers -drums series

Single brake chambers -discs series

Spring-loaded brake chamber - drum type - F type

SBP no size 
THE ERECTION BOLT SIZE CONECTION CONNECT THE FORK THROWOUT LEVER 

α ᵦ STROKE 
A B C K D E M L1 L2

05-BCT16-K02 T16 120.7 2-M16X1.5 40 2-M16X1.5 SR8 15 90° 225° 60
05-BCT20-K02 T20 120,7 2-M16X1.5 38 2-M16X1.5 SR8 15 0° -20° 60
05-BCT24-K02 T24 120,7 2-M16X1.5 43 2-M16X1.5 SR8 15 0° -20° 64
05-BCT30-K02 T30 120,7 2-M16X1.5 33,5 2-M16X1.5 SR8 15 0° 0° 64

SBP no size 
THE ERECTION BOLT SIZE CONECTION CONNECT THE FORK THROWOUT LEVER 

α ᵦ STROKE 
A B C K D E M L1 L2

05-BCT20/24-G04 20/24 120,7 2-M16X1.5 40 2 - M16 x 1.5 14.5X30 140 M16 x 1.5 270 240 90° 45° 60
05-BCT24/24-G05 24/24 120,7 2-M16X1.5 40 2-M22X1.5 14.5X30 14 M14X1.5 290 260 0° -135° 64
05-BCT24/30LS 24/30 120,7 2-M16X1.5 38 2-M16X1.5 14X40 14 M16 x 1.5 260 240 90° 135° 75
05-BCT30/30LS 30/30 120,7 2 x5/8UNC 38 2-NPT3/8 14.5X30 12,5 5/8UNF 320 290 90° 90° 76

E

D B
M

C

K

A

L2

K

ᵦ
α 

B ᵦ

α 

C

L2

M K

A

L2

ᵦ
α 

L1

D

E

C

A

K

www.sbp-brakes.com54
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.



Spring-loaded brake chamber - disc type 

SBP no size 
THE ERECTIONh BOLT SIZE CONECTION CONNECT THE FORK THROWOUT LEVER 

α ᵦ STROKE 
A B C K D E M L1 L2

05-BCT12/24-K01
12/24

120,7 2-M16X1.5 40 2-M22X1.5 SR8 15 0° 180° 64

05-BCT12/24-K02 120,7 2-M16X1.5 40 2-M22X1.5 SR8 15 0° 180° 64

05-BCT14/24-G01

14/24

120,7 2-M16X1.5 40 2-M22X1.5 SR8 15 27° 117° 64

05-BCT14/24-G02 120,7 2-M16X1.5 40 2-M22X1.5 SR8 15 -27° -117° 64

05-BCT14/24-G03 120,7 2-M16X1.5 40 2-M22X1.5 SR8 15 -33° -123° 64

05-BCT14/24-G04 120,7 2-M16X1.5 40 2-M22X1.5 SR8 15 33° 123° 64

05-BCT14/24-G05 120,7 2-M16X1.5 40 2-M22X1.5 SR8 15 --0° -135° 64

05-BCT14/24-G06 120,7 2-M16X1.5 40 2-M22X1.5 SR8 15 58° 148° 64

05-BCT14/24-G07 120,7 2-M16X1.5 40 2-M22X1.5 SR8 15 -58° -148° 64

05-BCT14/24-G08 120,7 2-M16X1.5 40 2-M22X1.5 SR8 15 27° 117° 64

05-BCT14/24-G09 120,7 2-M16X1.5 40 2-M22X1.5 SR8 15 -27° -117° 64

05-BCT14/24-G10 120,7 2-M16X1.5 40 2-M22X1.5 SR8 15 -23° 125° 64

05-BCT14/24-G11 120,7 2-M16X1.5 40 2-M22X1.5 SR8 15 23° -125° 64

05-BC16/24-K01

16/24

120,7 2-M16X1.5 38 2-M16X1.5 SR8 15 90° 180° 64

05-BCT16/24-G01 120,7 2-M16X1.5 40 2-M22X1.5 SR8 15 27° 117° 64

05-BCT16/24-G02 120,7 2-M16X1.5 40 2-M22X1.5 SR8 15 -27° -117° 64

05-BCT16/24-G03 120,7 2-M16X1.5 40 2-M22X1.5 SR8 15 -33° -123° 64

05-BCT16/24-G04 120,7 2-M16X1.5 40 2-M22X1.5 SR8 15 27° 117° 64

05-BCT16/24-G05 120,7 2-M16X1.5 40 2-M22X1.5 SR8 15 -27° -117° 64

05-BC18/24-K01 18/24 120,7 2-M16X1.5 38 2x M16 x 1.5 SR8 15 90° 180° 64

05-BCT20/24-G01

20/24

120,7 2-M16X1.5 40 2-M22X1.5 SR8 15 27° 117° 64

05-BCT20/24-G02 120,7 2-M16X1.5 40 2-M22X1.5 SR8 15 -27° -117° 64

05-BCT20/24-G05 120,7 2-M16X1.5 40 2- M16 x 1.5 14.5X31 141 M16 x 1.6 270 240 90° 45° 64

05-BC20/24-K01 120,7 2-M16X1.5 38 2x M16 x 1.5 SR8 15 90° 180° 64

05-BCT24/24-K01

24/24

120,7 2-M16X1.5 40 2-M16X1.5 SR8 15 90° 45° 64

05-BCT24/14-G01 120,7 2-M16X1.5 40 2-M16X1.5 SR8 15 27° -135° 64

05-BCT24/24-G01 120,7 2-M16X1.5 40 2-M16X1.5 SR8 15 27° -135° 64

05-BCT24/24-G02 120,7 2-M16X1.5 40 2-M16X1.5 SR8 15 -27° 135° 64

05-BCT24/24-G03 120,7 2-M16X1.5 40 2-M16X1.5 SR8 15 27° 54° 64

05-BCT24/24-G04 120,7 2-M16X1.5 40 2-M16X1.5 SR8 15 -27° -54° 64

05-BCT24/30-G01 24/30 120,7 2-M16X1.5 40 2-M16X1.5 SR8 15 0° -135° 64

05-BCT20/24-K02 20/24 120,7 2-M16X1.5 40 2-M16X1.5 SR8 15 0° 45° 58

05-BCT24/24-K02 24/24 120,7 2-M16X1.5 33 2-M16X1.5 SR8 15 0° -90° 64

B

M

K

L2

ᵦ

α 

A

C

www.sbp-brakes.com 55
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.

BRAKE CHAMBERS



BRAKE CHAMBERS

Ø114

36.2

Ø168

SBP no: 05-DMT20

SBP no: 05-DMT24

SBP no: 05-DMT20LS

SBP no: 05-DMT24LS

Diaphragms

SBP no: 05-DMT16 SBP no: 05-DMT16LS

108

169

www.sbp-brakes.com56
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.



Diaphragms

SBP no: 05-FK01 SBP no: 05-FK02

SBP no: 05-DMT30LSSBP no: 05-DMT30

www.sbp-brakes.com 57
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.

BRAKE CHAMBERS



SLACK ADJUSTERS

SBP no HALDEX no OE no
APPLICATION

MODEL AXLE SIDE

08-BP001 100001021 2100200001
3354200338 TRAILER

08-BP002 72875D 0517482022 TRAILER

08-BP003 100001760 5021172104 TRAILER

BPW

DAF

FRUEHAUF

SBP no HALDEX no OE no
APPLICATION

MODEL AXLE SIDE

08-FR001 100114075 TRAILER

SBP no HALDEX no OE no
APPLICATION

MODEL AXLE SIDE

08-DA001 72523/C 85CF/95/95XF 1 RIGHT

08-DA002 72524/C 85CF/95/95XF 1 LEFT

08-DA003 72538/C 85CF/95/95XF 2 LEFT

08-DA004 72539/C 85CF/95/95XF 2 RIGHT

www.sbp-brakes.com58
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.



ARM HOLE LENGTH (mm) NUMBER 
OF SPLINE 

TEETH

 BUSHING 
DIAMETER OFFSET

INCLINATION  CONTROL ARM 
LENGTH

L1 L2 L3 L4 L5 L6 L7 (mm) (deg) (mm)

180 150 120 10 14

250 180 165 150 135 120 10 14 0 20

250 195 180 165 150 135 120 10 14

ARM HOLE LENGTH (mm) NUMBER 
OF SPLINE 

TEETH

 BUSHING 
DIAMETER OFFSET

INCLINATION  CONTROL ARM 
LENGTH

L1 L2 L3 L4 L5 L6 L7 (mm) (deg) (mm)

140 10 14 -38 0 78

140 10 14 38 0 78

165 10 14 -45 -30 65

165 10 14 45 -30 65

ARM HOLE LENGTH (mm) NUMBER 
OF SPLINE 

TEETH

 BUSHING 
DIAMETER OFFSET

INCLINATION  CONTROL ARM 
LENGTH

L1 L2 L3 L4 L5 L6 L7 (mm) (deg) (mm)

215 180 150 130 105 37 14/18

www.sbp-brakes.com 59
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.

SLACK ADJUSTERS



SLACK ADJUSTERS

MAN

SBP no HALDEX no OE no
APPLICATION

MODEL AXLE SIDE

08-MA001 79210/C 81.50610.6059
81.50610.6083 F/M90 / F/L/M200 / TGA 1 LEFT

08-MA002 79211/C
81.50610.6048
81.50610.6058
81.50610.6084

1 RIGHT

08-MA003 79205/C 81.50610.6176
81.50610.6214 F/M90 / F/L/M200 / TGA 2 LEFT

08-MA005 79207/C 81.50610.6193
81.50610.6217

08-MA006 79219/C 81.50610.6204
81.50610.9204 2 RIGHT

08-MA007 79220/C 81506106200
72810/C 2 LEFT

08-MA008 79225/C 81.50610.6102
81.50610.6124 1 LEFT

08-MA009 79226/C 81.50610.6103
81.50610.6125 1 RIGHT

www.sbp-brakes.com60
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.



ARM HOLE LENGTH (mm) NUMBER 
OF SPLINE 

TEETH

 BUSHING 
DIAMETER OFFSET

INCLINATION  CONTROL ARM 
LENGTH

L1 L2 L3 L4 L5 L6 L7 (mm) (deg) (mm)

145 26 14 18 34 78

145 26 14 -18 34 78

145 26 14 56 15 65

145 26 14 0 0 65

130 26 14 -18 34 65

130 26 14 18 34 65

130 26 14 15 120 65

130 26 14 -15 120 65

www.sbp-brakes.com 61
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.

SLACK ADJUSTERS



SLACK ADJUSTERS

MERCEDES

SBP no HALDEX no OE no
APPLICATION

MODEL AXLE SIDE

08-ME001 72173/C 9424201138
6214200138 1834/2238/2524/2534/2539 2 LEFT

08-ME002 79209/C 81.50610.6210 2 RIGHT

08-ME003 70867/C 389 420 07 38 LEFT / RIGHT

08-ME004 80008/C 652 420 00 38
658 420 02 38 ACTROS / AXOR 1 LEFT

08-ME005 80009/C 619 420 01 38
619 420 03 38 ACTROS / AXOR 1 RIGHT

08-ME006 70953/C 617 420 04 38
942 420 03 38

08-ME007 80000/C 387 420 03 38 ACTROS / AXOR 2 LEFT

08-ME008 70952/C 617 420 03 38
942 420 02 38

08-ME009 80001/C 619 420 06 38
655 420 01 38 ACTROS / AXOR 2 RIGHT

08-ME010 72596/C 1227/1429/1617/1834 2 LEW / RIGHT

08-ME011 104507401 346 420 18 38

08-ME013 72059/C O303/O404/O405/O407/
O408 1 LEFT / RIGHT

08-ME014 72211/C

08-ME015 72212/C

www.sbp-brakes.com62
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.



ARM HOLE LENGTH (mm) NUMBER 
OF SPLINE 

TEETH

 BUSHING 
DIAMETER OFFSET

INCLINATION  CONTROL ARM 
LENGTH

L1 L2 L3 L4 L5 L6 L7 (mm) (deg) (mm)

145 26 14 -56 4 65

145 26 14 56 4 65

145 26 14 0 132,5 78

145 26 14 37 34 78

145 26 14 -37 34 78

145 26 14 56 15 65

145 26 14 -56 15 65

145 26 14 -56 15 65

145 26 14 56 15 65

145 26 14 0 37 65

145 26 14 -56

145 26 14 0 37 65

130 26 14 -15 -14 78

130 26 14 15 -14 78

www.sbp-brakes.com 63
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.

SLACK ADJUSTERS



SLACK ADJUSTERS

NEOPLAN

ROR

RENAULT

SBP no HALDEX no OE no
APPLICATION

MODEL AXLE SIDE

08-ME016 72203/C 70276000 STARLINER 1 LEFT

08-ME017 72204/C 70276100 STARLINER 1 RIGHT

SBP no HALDEX no OE no
APPLICATION

MODEL AXLE SIDE

08-RO001 72788/D 80020/D TRAILER

SBP no HALDEX no OE no
APPLICATION

MODEL AXLE SIDE

08-RV001 79013/C 50 10 056 685 R360/R390/G310/G260 2,3 RIGHT

08-RV002 79304/C MAGNUM/PREMIUM 2 LEFT

08-RV003 79014/C 50 10 056 686
50 10 260 379 R360/R390/G310/G260 2,3 LEFT

08-RV004 79305/C MAGNUM/PREMIUM 2 RIGHT

08-RV005 79289/C AE 2 LEFT

08-RV006 79288/C AE 2 RIGHT

www.sbp-brakes.com64
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.



ARM HOLE LENGTH (mm) NUMBER 
OF SPLINE 

TEETH

 BUSHING 
DIAMETER OFFSET

INCLINATION  CONTROL ARM 
LENGTH

L1 L2 L3 L4 L5 L6 L7 (mm) (deg) (mm)

145 19 14 -25 -30 65

145 19 14 25 -30 65

ARM HOLE LENGTH (mm) NUMBER 
OF SPLINE 

TEETH

 BUSHING 
DIAMETER OFFSET

INCLINATION  CONTROL ARM 
LENGTH

L1 L2 L3 L4 L5 L6 L7 (mm) (deg) (mm)

205 153 140 127 115 10 14 0 20

ARM HOLE LENGTH (mm) NUMBER 
OF SPLINE 

TEETH

 BUSHING 
DIAMETER OFFSET

INCLINATION  CONTROL ARM 
LENGTH

L1 L2 L3 L4 L5 L6 L7 (mm) (deg) (mm)

175 27 14 38 30 65

160 27 14 -38 0 65

175 27 14 -38 30 65

160 27 14 38 0 65

160 27 14 -38 0 65

160 27 14 38 0 65

www.sbp-brakes.com 65
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.

SLACK ADJUSTERS



SLACK ADJUSTERS

SAF

SCANIA

SBP no HALDEX no OE no
APPLICATION

MODEL AXLE SIDE

08-SC001 72662/C 1 112 831
1 789 560 SERIA 4 REAR LEFT / RIGHT

08-SC002 72660/C 001112834 SERIA 4 2,3,4 LEFT

08-SC003 72661/C 1 789 562 SERIA 4 2,3,4 RIGHT

08-SC004 79442/C 1 789 567 SERIA 4 1 RIGHT

08-SC006 79443/C 1 789 568 SERIA 4 1 LEFT

08-TR001 TRAILER

08-KT001 76046 002 586 11 42
81.50610.6132 ZESTAW NAPRAWCZY

SBP no HALDEX no OE no
APPLICATION

MODEL AXLE SIDE

08-SA001 80022/D 79005/D
3 434 3502 02 TRAILER

08-SA002 100101743 2100200703
2175007400 TRAILER

08-SA003 72053/C

www.sbp-brakes.com66
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.



ARM HOLE LENGTH (mm) NUMBER 
OF SPLINE 

TEETH

 BUSHING 
DIAMETER OFFSET

INCLINATION  CONTROL ARM 
LENGTH

L1 L2 L3 L4 L5 L6 L7 (mm) (deg) (mm)

250 180 155 140 125 105 10 14 0 20

250 220 180 150 120 10 14

10

ARM HOLE LENGTH (mm) NUMBER 
OF SPLINE 

TEETH

 BUSHING 
DIAMETER OFFSET

INCLINATION  CONTROL ARM 
LENGTH

L1 L2 L3 L4 L5 L6 L7 (mm) (deg) (mm)

165 10 16 0 -38 100

165 10 16 25 -42 100

165 10 16 -25 -42 100

165 10 16 -65 0 65

165 10 16 65 0 65

203 178 152 127 10 14

www.sbp-brakes.com 67
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.

SLACK ADJUSTERS



CROSS REFERENCES

OE TYPE OE  no SBP no
OE SCHMITZ 017 870 02-SH001

OE FRUEHAUF-TRAILOR 31 270 01-FR003

OE FRUEHAUF-TRAILOR 31 450 03-FR002

OE FRUEHAUF-TRAILOR 31 561 08-FR001

OE FRUEHAUF-TRAILOR 32 313 01-FR002

OE SCHMITZ 050408 05-BCT24/30LS

HALDEX 72622 08-SC001

HALDEX 76046 08-KT001

OE SCANIA 0151476 05-DMT20

OE DAF 0159556 08-DA001

OE DAF 0159557 08-DA002

OE DAF 0159589 08-DA003

OE DAF 0159590 08-DA004

OE SCANIA 160342 05-DMT16

OE SCANIA 0160342 05-DMT16

OE RVI (RENAULT R.V.I) 0000194435 01-RV003

OE BOVA 204552 07-P29108

OE BOVA 234110 02-NE001

OE VOLVO 272800 08-KT001

OE SCANIA 277308 01-SC005

OE SCANIA 293543 01-SC003

OE DAF 299095 02-DA004

OE DAF 303055 05-DMT20

OE SCANIA 305406 01-SC005

OE SCANIA 305438 01-SC003

OE VOLVO 338458 05-DMT20

OE SCANIA 342880 01-SC003

KNORR 352281 02-DA004

OE SCANIA 360572 01-SC005

OE SCANIA 360573 01-SC003

OE VOLVO 366866 01-VO008

OE DAF 386964 01-DA005

OE SCANIA 392390 01-SC004

OE DAF 0689 511 05-DMT16LS

OE DAF 689 511 05-DMT16LS

OE DAF 705707 05-BCT30LS

OE DAF 0834482 05-BCT20LS

OE DAF 0834484 05-BCT30LS

OE DAF 871673 07-P29162

OE DAF 0877935 07-P29162

OE ZETOR 0878596 08-BP001

OE SCHMITZ 1008452 07-P29158

OE SCANIA 1010155 05-BCT30LS

OE VOLVO 1075307 01-VO004

OE VOLVO 1075309 01-VO009

OE VOLVO 1075310 01-VO003

OE SCHMITZ 1105625 07-P29158

OE SCANIA 1112831 08-SC001

OE SCANIA 1112834 08-SC003

OE DAF 1232806 01-DA004

OE DAF 1233462 01-DA001

OE DAF 1238372 02-DA004

OE IVECO 1282538 05-DMT20

OE DAF 1325345 05-DMT20

OE DAF 1325351 05-BCT30/30LS

OE DAF 1325352 05-BCT24/30LS

OE SCANIA 1334075 01-SC001

OE SCANIA 1358634 08-SC004

OE SCANIA 1358635 08-SC006

OE DAF 1358940 08-SA002

OE SCANIA 1361331 01-SC002

OE SCANIA 1385893 01-SC006

OE SCANIA 1 386 686 02-SC001

OE DAF 1387439 02-DA002FK

OE SCANIA 1 388 953 WIC031

OE TYPE OE  no SBP no
OE SCANIA 1390428 07-P29108

OE DAF 1400163 02-DA007

OE DAF 1400273 02-DA008

OE DAF 1400284 02-DA010

OE SCANIA 1402272 02-SC001

OE DAF 1403758 02-DA006

OE DAF 1407581 02-DA008

OE DAF 1408252 02-DA007

OE DAF 1408253 02-DA006

OE DAF 1408254 02-DA008

OE DAF 1408670 02-DA007

OE DAF 1408671 02-DA006

OE DAF 1408672 02-DA008

OE SCANIA 1414152 01-SC001

OE SCANIA 1414153 01-SC002

OE SCANIA 1414435 01-SC006

OE SCANIA 1415147 02-NE001

OE DAF 1433011 07-P29108

OE DAF 1440504 07-P29142

OE DAF 1503275 07-P29142

OE SCANIA 1527633 07-P29108

OE VOLVO 1590313 01-VO007

OE VOLVO 1599009 01-VO002

OE VOLVO 1599010 01-VO006

OE VOLVO 1599011 01-VO005

OE VOLVO 1599012 01-VO003

OE VOLVO 1609309 05-DMT20

OE VOLVO 1614797 05-DMT20

OE VOLVO 1614798 05-DMT24

OE VOLVO 1614799 05-DMT30

OE DAF 1617343 07-P29108

OE DAF 1628064 07-P29159

OE DAF 1640561 02-DA001

OE DAF 1726138 02-DA002

OE SCANIA 1734529 07-P29108

OE FORD 1735157 02-IV021

OE SCANIA 1738481 05-BCT30LS

OE SCANIA 1789560 08-SC001

OE SCANIA 1789562 08-SC003

OE SCANIA 1789567 08-SC004

OE SCANIA 1789568 08-SC006

OE SCANIA 1852817 02-SC001

OE SCANIA 1865748 08-SC002

OE IVECO 1903651 WIC017

OE IVECO 1904532 02-IV011

OE IVECO 1904693 02-IV013

OE IVECO 190 6461 02-IV003

OE IVECO 1906462 WIC018

OE IVECO 1906466 02-IV016

OE IVECO 1907568 02-IV017

OE IVECO 1907631 02-IV006

OE IVECO 1907725 02-IV004

OE IVECO 1907726 02-IV005

OE IVECO 1908231 WIC012

OE IVECO 1908407 WIC001

OE IVECO 1908578 02-IV005

OE IVECO 1908614 02-IV006

OE IVECO 1908729 02-IV006

OE IVECO 1908825 WIC002

OE IVECO 2479853 01-IV002

OE IVECO 2961819 05-DMT16

OE IVECO 2991646 02-IV002

OE IVECO 2991979 02-IV006

OE IVECO 2992271 02-IV021

OE IVECO 2992291 02-IV020

www.sbp-brakes.com68
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.



OE TYPE OE  no SBP no
OE IVECO 2992336 07-P29095

OE IVECO 2992348 07-P29108

OE IVECO 2992476 07-P29108

OE IVECO 2992477 02-IV007

OE IVECO 2992666 WIC028

OE IVECO 2994066 02-IV010

OE IVECO 2995702 02-IV018

OE IVECO 2995809 07-P29108

OE IVECO 2995812 02-IV019

OE IVECO 2995819 07-P29108

OE IVECO 2995894 02-IV018

OE IVECO 2995938 07-P29108

OE IVECO 2996009 02-IV023

OE IVECO 2996043 02-IV015

OE IVECO 2996049 02-IV026

OE IRISBUS 2996068 07-P29131

OE IVECO 2996328 02-IV019

OE IVECO 2996378 07-P29108

OE IVECO 2996419 02-IV024

OE IVECO 2996468 07-P29095

OE IVECO 2996710 02-IV022

GRAU 003033609 05-FK02

OE VOLVO 3090075 03-VO001

OE VOLVO 3090076 03-VO002

OE VOLVO 3091286 08-KT001

OE VOLVO 3092710 02-VO008

OE VOLVO 3171744 01-VO001

OE VOLVO 3171745 01-VO004

OE VOLVO 3171747 01-VO009

GRAU 003561409 05-FK01

OE VOLVO 3988838 02-VO008

OE VOLVO 3988919 02-VO008FK

OE FORD LKW 4041427 02-FO001

OE BOVA 0004200172 02-NE001

OE BOVA 4200172 02-NE001

OE FORD 4395257 02-FO001

OE FORD 5022670 02-IV021

OE FORD 6172906 02-FO002

OE VOLVO 6772133 01-VO010

OE VOLVO 6774686 02-VO004

OE VOLVO 6775227 02-VO002

OE VOLVO 6779208 02-VO003

OE VOLVO 6779209 02-VO005

OE VOLVO 6796864 02-VO001

OE NEOPLAN 07010030 05-BCT30LS

OE IVECO 7168368 02-IV011

OE IVECO 7171274 02-IV011

OE IVECO 717 2018 02-IV005

OE IVECO 717 2079 01-IV001

OE IVECO 7172930 02-IV017

OE IVECO 717 3036 02-IV004

OE IVECO 7173317 02-IV006

OE IVECO 7182300 02-IV010

OE IVECO 7182874 02-IV012

OE IVECO 7183632 02-IV016

OE IVECO 7183775 02-IV021

OE IVECO 7185410 02-IV010

OE IVECO 7185503 02-IV019

OE IVECO 7187541 02-IV018

OE IVECO 7187712 02-IV020

OE IVECO 7189265 02-IV024

OE IVECO 7189476 02-IV019

OE IVECO 8197158 05-DMT16

OE LIEBHERR 10326494 07-P29162

OE NEOPLAN 11015449 02-ME006

OE TYPE OE  no SBP no
OE SAF 12182192 07-P29159

OE SAF 12182492 07-P29159

OE SAF 12999737 07-P29159

OE VOLVO 12999796 07-P29162

WABCO 12 999 796 07-P29162

OE ROR 15200011 03-RO001

OE ROR 15205191 03-RO003

OE ROR 15205533 03-RO002

OE ROR 15206005 03-RO001

OE ROR 15224724 03-RO004

OE VOLVO 20375549 02-VO008FK

OE VOLVO 20568711 07-P29174

OE VOLVO 20704423 02-RV022

OE VOLVO 20931241 02-RV023

OE VOLVO 20931249 02-RV019

OE ROR 21018963 01-RO006

OE ROR 21018986 01-RO003

OE ROR 21021114 01-RO002

OE ROR 21209701 01-RO005

OE ROCKWELL 21211030 01-RO005

OE ROR 21219279 04-RO015

OE ROR 21219280 04-RO016

OE ROR 21219321 04-RO003

OE ROR 21219322 04-RO004

OE ROR 21219335 04-RO005

OE ROR 21219336 04-RO006

OE ROR 21219337 04-RO007

OE ROR 21219338 04-RO008

OE ROR 21221070 04-RO017

OE ROR 21221071 04-RO018

OE ROR 21221194 04-RO001

OE ROR 21221195 04-RO002

OE ROR 21224263 02-RO001

OE ROR 21224719 03-RO004

OE ROR 21224793 04-RO011

OE ROR 21224794 04-RO012

OE ROR 21224795 04-RO013

OE ROR 21224796 04-RO014

OE ROR 21225115 02-RO005

OE ROR 21227080 04-RO010

OE ROR 21227081 04-RO009

OE ROR 21227349 02-RO005

MERITOR 21229249 08-RO001

OE VOLVO 21575071 02-VO007

OE IVECO 41211278 07-P29108

OE IVECO 41212279 07-P29108

OE IVECO 42470836 02-IV009

OE IVECO 42471034 02-IV010

OE IVECO 42471150 02-IV012

OE IVECO 42471214 02-IV001

OE IVECO 42548195 WIC019

OE NISSAN 061003680 02-NI001

OE RVI (RENAULT R.V.I) 68310622 WIC011

OE RVI (RENAULT R.V.I) 68320902 WIC011

OE VOLVO 68323233 02-RO004

OE ROR 68323825 02-RO003

MERITOR 68324558 07-P29131

MERITOR 68325346 07-P29131

OE RVI (RENAULT R.V.I) 68325408 WIC025

MERITOR 68326015 07-P29131

OE NEOPLAN 082134000 07-P29108

OE NEOPLAN 082135100 07-P29108

OE VOLVO 82421140 02-RV022

OE VOLVO 85103804 02-VO006

OE VOLVO 85103806 02-VO009

www.sbp-brakes.com 69
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.

CROSS REFERENCES



CROSS REFERENCES

OE TYPE OE  no SBP no
OE VOLVO 85110495 02-VO006

OE IVECO 93161407 02-IV025

GRAU 100001760 08-BP003

GRAU 100101743 08-SA002

GRAU 100114075 08-FR001

GRAU 104507401 08-ME011

GRAU 120331101 05-BCT16LS

GRAU 120341101 05-BCT20LS

GRAU 120341201 05-BCT20LS

GRAU 120351101 05-BCT24LS

GRAU 342122400 05-BCT12/24-K01

GRAU 342142400 05-BCT14/24-G05

GRAU 342202400 05-BCT20/24-K02

GRAU 342243000 05-BCT24/30-G01

GRAU 346181011 05-BCT24/30LS

OE IVECO 500306590 02-IV009

OE RVI (RENAULT R.V.I) 501136146 01-RV002

OE NEOPLAN 0701 316 953 02-NE001

OE NEOPLAN 0707 000 036 02-NE001

OE NEOPLAN 0720 387 684 02-NE001

GRAU 1362430001 05-BCT24/30LS

OE RENAULT 5000450158 02-RV009

OE RENAULT 5000545242 02-RV009

OE RVI (RENAULT R.V.I) 5000737768 01-RV003

OE RVI (RENAULT R.V.I) 5000790539 02-RV001

OE RVI (RENAULT R.V.I) 5000792539 02-RV008

OE RVI (RENAULT R.V.I) 5001020312 07-P29131

OE RVI (RENAULT R.V.I) 5001667798 02-VO006

OE RVI (RENAULT R.V.I) 5001822987 WIC011

OE RVI (RENAULT R.V.I) 5001831161 WIC032

OE RVI (RENAULT R.V.I) 5001834075 WIC016

OE RVI (RENAULT R.V.I) 5001855646 07-P29131

OE RVI (RENAULT R.V.I) 5001855902 07-P29142

OE RVI (RENAULT R.V.I) 5001864363 07-P29174

OE RVI (RENAULT R.V.I) 5001864498 02-VO008

OE RVI (RENAULT R.V.I) 5001871213 02-RV028

OE RVI (RENAULT R.V.I) 5001871214 02-RV017

OE RVI (RENAULT R.V.I) 5001874635 02-RV021

OE IRISBUS 5006028410 07-P29131

OE RVI (RENAULT R.V.I) 5010 098 831 08-RV006

OE RVI (RENAULT R.V.I) 5010 098 832 08-RV005

OE RVI (RENAULT R.V.I) 5010098949 01-RV001

OE RVI (RENAULT R.V.I) 5010216433 02-RV005

OE RVI (RENAULT R.V.I) 5010216437 02-RV006

OE RENAULT 5010216548 02-RV008

OE RVI (RENAULT R.V.I) 5010216931 02-RV024

OE RVI (RENAULT R.V.I) 5010216932 02-RV007

OE RVI (RENAULT R.V.I) 5010260101 02-RV024

OE RVI (RENAULT R.V.I) 5010260102 02-RV007

OE RVI (RENAULT R.V.I) 5010260218 02-RV026

OE RVI (RENAULT R.V.I) 5010260603 02-RV002

OE RVI (RENAULT R.V.I) 5010260609 02-RV004

OE RVI (RENAULT R.V.I) 5010422262 02-RV025

OE RVI (RENAULT R.V.I) 5010422263 02-RV011

OE RVI (RENAULT R.V.I) 5010422364 02-RV027

OE RVI (RENAULT R.V.I) 5010422593 02-RV003

OE RVI (RENAULT R.V.I) 5010525308 02-RV010

OE RVI (RENAULT R.V.I) 5010525326 02-RV020

OE RVI (RENAULT R.V.I) 5010525362 02-RV013

OE RVI (RENAULT R.V.I) 5010598304 02-RV012

OE RVI (RENAULT R.V.I) 5010598305 02-RV023

OE RVI (RENAULT R.V.I) 5010598306 02-RV022

OE RVI (RENAULT R.V.I) 5010598308 02-RV019

OE RVI (RENAULT R.V.I) 5010598309 02-RV018

OE RVI (RENAULT R.V.I) 5021170326 05-BCT24/30LS

OE TYPE OE  no SBP no
OE RVI (RENAULT R.V.I) 5021170327 05-BCT30/30LS

OE VAN HOOL 5021172094 08-BP001

OE RENAULT 5021172104 08-BP003

OE RENAULT 5021209104 07-P29162

OE SAF 5317002300 07-P29108

OE SAF 5317002400 07-P29108

OE MERCEDES BENZ 624 421 0201 01-ME002

OE RVI (RENAULT R.V.I) 7420924727 02-RV014

OE RVI (RENAULT R.V.I) 7420924728 02-RV015

OE RVI (RENAULT R.V.I) 7421575117 02-VO007

OE RVI (RENAULT R.V.I) 8200688880 02-RV016

OE KASSBOHRER 8241037367 08-BP001

OE KASSBOHRER 8285000571 07-P29108

OE BOVA 8285472000 02-NE001

OE KASSBOHRER 8285515573 07-P29108

OE SAF 3 0570 080 000 07-P29159

MERITOR 317 887 00100 02-RO002

OE SAF 3 777 9813 840 07-P29095

GRAU 135162400470 05-BC16/24-K01

OE DAF 0 090 500 01-DA006

OE DAF 0 365 579 01-DA003

OE DAF 0 395 247 01-DA005

OE DAF 0 754 397 01-DA002

OE MERCEDES BENZ 000 420 00 92 08-KT001

OE MERCEDES BENZ 000 420 74 24 05-BCT24LS

OE MERCEDES BENZ 000 420 75 24 05-BCT24LS

OE MERCEDES BENZ 000 420 80 24 05-BCT30LS

OE MERCEDES BENZ 000 420 91 24 05-BCT24LS

OE MERCEDES BENZ 000 420 99 24 05-BCT16LS

OE MERCEDES BENZ 000 421 07 10 07-P29095

OE MERCEDES BENZ 000 421 08 10 07-P29095

OE MERCEDES BENZ 000 421 10 10 07-P29148

OE MERCEDES BENZ 000 421 12 10 07-P29148

OE MERCEDES BENZ 000 421 29 86 05-DMT16

OE MERCEDES BENZ 000 421 42 86 05-DMT20LS

OE MERCEDES BENZ 000 421 50 10 07-P29095

OE MERCEDES BENZ 000 423 34 86 05-DMT24LS

OE MERCEDES BENZ 000 431 07 28 05-DMT20

OE MERCEDES BENZ 000 431 20 28 05-DMT16LS

OE MERCEDES BENZ 001 420 02 24 05-BCT16LS

OE MERCEDES BENZ 001 420 06 24 05-BCT16LS

OE MERCEDES BENZ 001 420 08 24 05-BCT16LS

OE MERCEDES BENZ 001 420 09 24 05-BCT16LS

OE MERCEDES BENZ 001 420 36 24 05-BCT24LS

OE MERCEDES BENZ 001 420 38 24 05-BCT24LS

OE MERCEDES BENZ 001 420 62 24 05-BCT16LS

OE MERCEDES BENZ 001 420 63 24 05-BCT16LS

OE MERCEDES BENZ 001 420 68 24 05-BCT24LS

OE MERCEDES BENZ 001 421 05 10 07-P29148

OE MERCEDES BENZ 001 421 06 10 07-P29148

OE MERCEDES BENZ 001 421 25 10 07-P29148

OE MERCEDES BENZ 001 421 26 10 07-P29148

OE MERCEDES BENZ 002 420 49 20 07-P29108

OE MERCEDES BENZ 002 420 65 18 05-BCT20LS

OE MERCEDES BENZ 002 420 78 20 07-P29095

OE MERCEDES BENZ 002 420 78 28 07-P29095

OE MERCEDES BENZ 002 420 79 20 07-P29095

OE MERCEDES BENZ 002 586 11 42 08-KT001

OE MERCEDES BENZ 003 420 10 20 07-P29108

OE MERCEDES BENZ 003 420 11 20 07-P29148

OE MERCEDES BENZ 003 420 12 20 07-P29148

OE MERCEDES BENZ 003 420 13 24 05-BCT16LS

OE MERCEDES BENZ 003 420 20 20 07-P29108

OE MERCEDES BENZ 003 420 22 20 07-P29108

OE MERCEDES BENZ 003 420 66 20 07-P29148

www.sbp-brakes.com70
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.



OE TYPE OE  no SBP no
OE MERCEDES BENZ 003 420 72 20 07-P29148

OE MERCEDES BENZ 003 420 73 20 07-P29148

OE MERCEDES BENZ 004 420 60 20 07-P29108

OE MERCEDES BENZ 004 420 61 20 07-P29148

OE MERCEDES BENZ 004 420 70 20 07-P29171

OE MERCEDES BENZ 004 420 87 18 05-BCT24LS

OE MERCEDES BENZ 005 420 23 20 07-P29095

OE MERCEDES BENZ 005 420 75 18 05-BCT16LS

OE MERCEDES BENZ 006 420 27 18 05-BCT16LS

OE MERCEDES BENZ 007 420 00 18 05-BCT16LS

OE MERCEDES BENZ 007 420 01 18 05-BCT16LS

OE BPW 02.0327.39.00 05-BCT24/30LS

OE BPW 03 088 34 03 0 02-BP007

OE BPW 03 088 34 03 7 02-BP007

OE BPW 03.088.34.01.0 02-BP006

OE BPW 03.088.34.02.0 02-BP001

OE BPW 03.088.34.03.0 02-BP004

OE BPW 03.088.34.04.0 02-BP005

OE BPW 03.088.34.08.0 02-BP002

OE BPW 03.088.34.10.0 02-BP008

OE BPW 03.088.34.13.0 02-BP008

OE BPW 03.088.35.03.0 02-BP003

OE BPW 03.105.46.29.0 01-BP004

OE BPW 03.105.90.02.0 01-BP009

OE BPW 03.106.67.12.0 01-BP003

OE BPW 03.106.77.04.0 01-BP007

OE BPW 03.106.77.57.0 01-BP005

OE BPW 03.109.46.06.0 01-BP008

OE BPW 03.109.67.13.0 01-BP002

OE BPW 03.109.67.19.0 01-BP001

OE BPW 03.109.67.82.0 01-BP010

OE BPW 03.109.77.72.2 01-BP006

OE BPW 05.091.14.80.0 03-BP002

OE BPW 05.091.27542 03-BP004

OE BPW 05.091.46.17.0 03-BP001

OE BPW 05.091.46.17.0 S1 03-BP001

OE BPW 05.0911.4800 03-BP002

OE BPW 05.092.90.04.0 07-P29165

OE BPW 05.092.90.05.0 07-P29165

OE BPW 05.092.90.06.0 07-P29171

OE BPW 05.092.90.07.0 07-P29167

OE BPW 05.092.90.09.0 07-P29167

OE BPW 05.092.90.10.0 07-P29165

OE BPW 05.097.05.13.1 04-BP013

OE BPW 05.097.05.14.1 04-BP014

OE BPW 05.097.05.17.1 04-BP015

OE BPW 05.097.05.18.1 04-BP016

OE BPW 05.097.05.21.1 04-BP001

OE BPW 05.097.05.23.1 04-BP003

OE BPW 05.097.05.24.1 04-BP004

OE BPW 05.097.05.25.0 04-BP005

OE BPW 05.097.05.25.1 04-BP005

OE BPW 05.097.05.25.3 04-BP005

OE BPW 05.097.05.26.0 04-BP006

OE BPW 05.097.05.26.1 04-BP006

OE BPW 05.097.05.26.3 04-BP006

OE BPW 05.097.05.29.0 04-BP007

OE BPW 05.097.05.29.1 04-BP007

OE BPW 05.097.05.29.3 04-BP007

OE BPW 05.097.05.29.4 04-BP007

OE BPW 05.097.05.30.0 04-BP008

OE BPW 05.097.05.30.1 04-BP008

OE BPW 05.097.05.30.3 04-BP008

OE BPW 05.097.05.30.4 04-BP008

OE BPW 05.097.05.39.1 04-BP009

OE TYPE OE  no SBP no
OE BPW 05.097.05.39.3 04-BP009

OE BPW 05.097.05.40.1 04-BP010

OE BPW 05.097.05.40.3 04-BP010

OE BPW 05.097.05.47.1 04-BP011

OE BPW 05.097.05.48.1 04-BP012

OE BPW 05.174.52.34.0 08-BP001

OE BPW 05.174.65.13.0 08-BP003

OE BPW 05.174.82.21.2 08-BP002

OE BPW 05.362.70.02.0 07-P29167

OE BPW 05.444.20.01.0 05-BCT24/30LS

OE BPW 05.444.21.01.0 05-BCT30/30LS

OE BPW 05.444.21.04.0 05-BCT30/30LS

OE BPW 05.444.21.11.0 05-BCT30/30LS

OE BPW 05.444.40.02.0 05-BC16/24-K01

OE BPW 05.444.42.02.0 05-BC18/24-K01

OE BPW 05.444.44.02.0 05-BC20/24-K01

OE BPW 05.901.46.17.0 03-BP001

OE NEOPLAN 07010.030 05-BCT30LS

OE SOLARIS 0801.317.662 02-ME006

OE MERCEDES BENZ 0801.621.00 02-NE002

OE SOLARIS 0820.351.05 02-ME008

OE SOLARIS 0820.352.121 02-ME007

OE SOLARIS 0820.353.074 02-SO001

OE SOLARIS 0821.333.00 02-ME009

OE NEOPLAN 0821.358.30 02-NE001

OE SOLARIS 0821.358.300 02-NE001

OE SOLARIS 0870.205.143 02-ME010

OE SOLARIS 0870.316.953 02-NE001

OE BPW 09.088.34.10.7 02-BP008

OE BPW 09.097.05.21.0 04-BP001

OE BPW 09.097.05.22.0 04-BP002

OE BPW 09.801.02.57.0 07-P29167

OE BPW 09.801.02.92.0 07-P29167

OE BPW 09.801.02.93.0 07-P29165

OE BPW 09.801.0275.0 07-P29165

OE BPW 09.801.06.20.0 07-P29167

OE BPW 09.801.06.21.0 07-P29165

OE BPW 09.801.06.35.0 07-P29165

OE BPW 09.801.06.36.0 07-P29167

OE BPW 09.801.06.43.0 07-P29165

OE BPW 09.801.06.44.0 07-P29171

OE BPW 09.801.06.45.0 07-P29167

OE BPW 09.801.06.95.0 07-P29171

OE BPW 09.801.06.96.0 07-P29167

OE BPW 09.801.07.09.0 07-P29165

OE SAF 1 064 0060 02 01-SA003

OE SAF 1 064 0108 01 01-SA004

OE SAF 1 064 0128 00 01-SA004

OE SAF 1 064 0130 00 01-SA003

OE SAF 1 064 0197 00 01-SA007

OE SAF 1 064 0236 00 01-SA006

OE SAF 1 064 0236 01 01-SA006

OE SAF 1 064 0260 01 01-SA001

OE SAF 1 064 0260 02 01-SA001

OE SAF 1 064 0270 00 01-SA005

OE SAF 1 064 0273 00 01-SA002

WABCO 12 999 737VT 07-P29159

OE ROR 15227419T 07-P29131

OE TRAILOR 1670000J 08-TR001

OE KASSBOHRER 172.24.11.113-020 02-SE004

OE KASSBOHRER 179.24.11.111-31B 02-SE001

OE KASSBOHRER 179.24.11.113-07 02-SE003

OE KASSBOHRER 179.25.20.114-11 01-SE001

OE KASSBOHRER 179-24.11.111-31B 02-SE001

OE DAF 2 100 2000 01 08-BP001

www.sbp-brakes.com 71
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.

CROSS REFERENCES



CROSS REFERENCES

OE TYPE OE  no SBP no
OE DAF 2 100 2007 03 08-SA002

OE SAF 2 175 0074 00 08-SA002

OE SAF 2 262 0283 01 04-SA001

OE SAF 2 262 0284 01 04-SA002

OE SAF 2 262 1102 01 04-SA008

OE SAF 2 262 1102 02 04-SA003

OE SAF 2 262 1103 01 04-SA007

OE SAF 2 262 1103 02 04-SA004

OE ROR 212 23 852 01-RO001

OE ROCKWELL 212 25 115 02-RO002

OE ROR 21220183V 01-RO001

OE ROR 21221194S 04-RO001

OE ROR 21221195S 04-RO002

MERITOR 21229249 S1 08-RO001

OE VOLKSWAGEN 2D0 919 351 WIC040

OE SAF 3 054 0052 00 03-SA001

OE SAF 3 054 0053 00 03-SA002

OE SAF 3 054 0120 00 03-SA003

OE SAF 3 057 0077 00 07-P29108

OE SAF 3 057 0084 00 07-P29162

OE SAF 3 057 0085 00 07-P29158

OE SAF 3 262 0271 01 04-SA006

OE SAF 3 262 0272 01 04-SA005

OE SAF 3 434 3502 01 08-SA001

OE SAF 3 434 3502 02 08-SA001

OE SAF 3 778 0006 2 07-P29095

OE MERCEDES BENZ 301 423 08 01 01-ME009

OE MERCEDES BENZ 305 421 00 01 01-ME010

OE MERCEDES BENZ 305 421 01 01 01-ME008

OE MERCEDES BENZ 305 421 04 01 01-ME008

OE MERCEDES BENZ 305 423 03 01 01-ME005

OE MERCEDES BENZ 305 423 04 01 01-ME005

OE MERCEDES BENZ 305 423 07 01 01-ME005

OE MERCEDES BENZ 307 423 01 01 01-ME009

MERITOR 3218-G-1333 02-RO002

MERITOR 3218H1308 02-RO001

OE DAF 3345107R1 05-BCT20LS

OE MERCEDES BENZ 335 420 03 38 08-BP001

OE MERCEDES BENZ 346 420 18 38 08-ME011

OE MERCEDES BENZ 346 423 00 01 01-ME011

OE MERCEDES BENZ 346 423 01 01 01-ME007

OE MERCEDES BENZ 346 423 05 01 01-ME007

OE MERCEDES BENZ 346 423 06 01 01-ME011

OE MERCEDES BENZ 346 423 12 36 04-MA001

OE MERCEDES BENZ 356 421 03 12 02-ME011

OE MERCEDES BENZ 356 421 10 12 02-ME011

OE MERCEDES BENZ 357 420 05 38 08-ME013

OE MERCEDES BENZ 357 420 11 38 08-ME014

OE MERCEDES BENZ 357 420 12 38 08-ME015

OE MERCEDES BENZ 357 420 14 38 08-MA007

OE MERCEDES BENZ 380 420 07 38 08-ME003

OE MERCEDES BENZ 383 423 02 01 01-ME010

OE MERCEDES BENZ 387 420 02 38 08-ME006

OE MERCEDES BENZ 387 420 03 38 08-ME008

OE MERCEDES BENZ 389 420 07 38 08-ME003

OE SAF 4 079 0003 00 02-SA003

OE SAF 4 079 0004 00 02-SA004

OE SAF 4 079 0005 00 02-SA001

OE SAF 4 079 0005 01 02-SA001

OE SAF 4 079 0007 01 02-SA002

OE SAF 4 079 0010 01 02-SA006

OE SAF 4 079 0010 04 02-SA006

OE SAF 4 079 0013 00 02-SA005

OE SAF 4 454 1039 00 05-BCT30LS

OE SAF 4 454 1039 00 05-BCT30LS

OE TYPE OE  no SBP no
OE NISSAN 40206MB600 02-RV028

WABCO 423 000 534 2 05-FK01

WABCO 423 000 535 2 05-FK02

WABCO 423 103 900 0 05-BCT12-K01

WABCO 423 104 710 0 05-BCT16-K02

WABCO 423 104 900 0 05-BCT16LS

WABCO 423 105 084 0 05-BCT20LS

WABCO 423 105 900 0 05-BCT20LS

WABCO 423 106 144 0 05-BCT24LS

WABCO 423 106 900 0 05-BCT24LS

WABCO 423 106 903 0 05-BCT24LS

WABCO 423 107 900 0 05-BCT30LS

WABCO 423 506 001 0 05-BCT24-K02

WABCO 423 903 532 2 05-FK02

OE MERCEDES BENZ 431 072 8 05-DMT20

WABCO 433 506 515 0 08-ME011

OE RENAULT 50 00 789 892 08-RV001

OE RENAULT 50 00 789 893 08-RV003

OE RENAULT 50 10 056 685 08-RV001

OE RENAULT 50 10 056 686 08-RV003

OE RENAULT 50 10 260 027 08-RV002

OE RENAULT 50 10 260 028 08-RV004

OE RENAULT 50 10 260 379 08-RV003

OE MERCEDES BENZ 611 356 09 02 01-ME012

OE MERCEDES BENZ 617 420 03 38 08-ME008

OE MERCEDES BENZ 617 420 04 38 08-ME009

OE MERCEDES BENZ 619 420 00 38 08-ME004

OE MERCEDES BENZ 619 420 01 38 08-ME005

OE MERCEDES BENZ 619 420 03 38 08-ME005

OE MERCEDES BENZ 619 420 06 38 08-ME009

OE MERCEDES BENZ 623 421 06 36 04-ME001

OE MERCEDES BENZ 623 423 02 36 04-MA001

OE MERCEDES BENZ 638 421 01 12 02-ME019

OE MERCEDES BENZ 638 423 01 12 02-ME004

WABCO 640 225 920 2 07-P29162

OE TRAILOR 650 2796 E 01-TR001

OE FRUEHAUF-TRAILOR 6502796E 01-TR001

OE S.M.B. 6503390L 04-SM008

OE S.M.B. 6503391M 04-SM007

OE FRUEHAUF-TRAILOR 6504773S 03-FR002

OE FRUEHAUF-TRAILOR 6504787A 03-FR003

OE MERCEDES BENZ 652 420 00 38 08-ME004

OE MERCEDES BENZ 652 420 01 38 08-ME005

OE MERCEDES BENZ 652 420 02 38 08-ME010

OE MERCEDES BENZ 655 420 01 38 08-ME009

OE MERCEDES BENZ 658 420 01 38 08-ME005

OE MERCEDES BENZ 658 420 02 38 08-ME004

OE MERCEDES BENZ 658 420 03 38 08-ME005

OE MERCEDES BENZ 668 421 01 12 02-ME007

OE MERCEDES BENZ 668 421 02 12 02-ME009

OE MERCEDES BENZ 668 423 00 12 02-ME012

OE MERCEDES BENZ 668 423 01 12 02-ME014

OE MERCEDES BENZ 668 423 04 12 02-ME016

OE MERCEDES BENZ 668 423 05 12 02-ME015

OE MERCEDES BENZ 669 421 01 12 02-ME010

OE MERCEDES BENZ 669 421 06 12 02-ME010

OE MERCEDES BENZ 669 540 04 17 WIC007

OE MERCEDES BENZ 669 540 05 17 WIC007

OE MERCEDES BENZ 670 356 00 02 01-ME003

OE MERCEDES BENZ 670 421 00 12 02-ME013

OE MERCEDES BENZ 670 421 01 12 02-ME013

OE MERCEDES BENZ 670 421 03 12 02-ME013

OE MERCEDES BENZ 675 334 01 04 01-ME001

OE MERCEDES BENZ 675 334 19 04 01-ME001

OE MERCEDES BENZ 675 334 21 04 01-ME001

www.sbp-brakes.com72
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.



OE TYPE OE  no SBP no
OE MERCEDES BENZ 675 334 43 04 01-ME001

OE MERCEDES BENZ 675 334 55 04 01-ME001

OE MERCEDES BENZ 675 421 00 12 02-ME022

OE MERCEDES BENZ 677 421 01 01 01-ME004

OE MERCEDES BENZ 677 421 02 01 01-ME004

OE MERCEDES BENZ 677 421 04 01 01-ME006

OE MERCEDES BENZ 677 421 05 01 01-ME004

OE MERCEDES BENZ 677 423 00 01 01-ME004

OE MERCEDES BENZ 677 423 02 01 01-ME006

OE MERCEDES BENZ 677 423 05 01 01-ME004

OE MERCEDES BENZ 698 420 37 21 05-BCT20LS

OE MERCEDES BENZ 699 420 07 24 05-BCT20LS

OE S.M.B. 7000081L 04-SM003

OE S.M.B. 7000082M 04-SM004

HALDEX 70867/C 08-ME003

HALDEX 70952/C 08-ME008

HALDEX 70953/C 08-ME009

HALDEX 72013/C 08-MA004

HALDEX 72053/C 08-SA003

HALDEX 72062/C 08-ME004

HALDEX 72063/C 08-ME005

HALDEX 72173/C 08-ME001

HALDEX 72174/C 08-ME002

HALDEX 72234/C 08-ME004

HALDEX 72235/C 08-ME005

HALDEX 72523/C 08-DA001

HALDEX 72524/C 08-DA002

HALDEX 72538/C 08-DA003

HALDEX 72539/C 08-DA004

HALDEX 72593/C 08-ME004

HALDEX 72594/C 08-ME005

HALDEX 72596/C 08-ME010

HALDEX 72617/C 08-ME007

HALDEX 72660/C 08-SC002

HALDEX 72661/C 08-SC003

HALDEX 72662/C 08-SC001

HALDEX 72788/D 08-RO001

HALDEX 72875D 08-BP002

HALDEX 79005/D 08-SA001

HALDEX 79013/C 08-RV001

HALDEX 79014/C 08-RV003

HALDEX 79034/C 08-SC006

HALDEX 79205/C 08-MA003

HALDEX 79206/C 08-MA004

HALDEX 79207/C 08-MA005

HALDEX 79208/C 08-ME001

HALDEX 79209/C 08-ME002

HALDEX 79210/C 08-MA001

HALDEX 79211/C 08-MA002

HALDEX 79288/C 08-RV006

HALDEX 79289/C 08-RV005

HALDEX 79304/C 08-RV002

HALDEX 79305/C 08-RV004

HALDEX 79442/C 08-SC004

HALDEX 79443/C 08-SC006

OE KASSBOHRER 8.285.390.000 02-SE002

HALDEX 80000/C 08-ME007

HALDEX 80001/C 08-ME009

HALDEX 80008/C 08-ME004

HALDEX 80009/C 08-ME005

HALDEX 80020/D 08-RO001

HALDEX 80022/D 08-SA001

OE MAN 81.50110.0118 01-MA005

OE MAN 81.50110.0144 01-MA001

OE MAN 81.50110.0195 01-MA003

OE TYPE OE  no SBP no
OE MAN 81.50110.0212 01-MA007

OE MAN 81.50110.0213 01-MA005

OE MAN 81.50110.0214 01-MA002

OE MAN 81.50110.0223 01-MA004

OE MAN 81.50110.0226 01-MA004

OE MAN 81.50110.0227 01-MA002

OE MAN 81.50110.0231 01-MA004

OE MAN 81.50110.0232 01-MA002

OE MAN 81.50110.0237 01-MA006

OE MAN 81.50110.0239 01-MA002

OE MAN 81.50110.0242 01-MA005

OE MAN 81.50301.0112 04-MA001

OE MAN 81.50301.0113 04-MA002

OE MAN 81.50301.0262 04-MA001

OE MAN 81.50301.0264 04-MA001

OE MAN 81.50301.0271 04-MA003

OE MAN 81.50301.0272 04-MA004

OE MAN 81.50610.6048 08-MA002

OE MAN 81.50610.6049 08-MA001

OE MAN 81.50610.6058 08-MA002

OE MAN 81.50610.6059 08-MA001

OE MAN 81.50610.6083 08-MA001

OE MAN 81.50610.6084 08-MA002

OE MAN 81.50610.6089 08-MA009

OE MAN 81.50610.6090 08-MA008

OE MAN 81.50610.6102 08-MA008

OE MAN 81.50610.6103 08-MA009

OE MAN 81.50610.6124 08-MA008

OE MAN 81.50610.6125 08-MA009

OE MAN 81.50610.6126 08-MA008

OE MAN 81.50610.6127 08-MA009

OE MAN 81.50610.6132 08-KT001

OE MAN 81.50610.6137 08-MA005

OE MAN 81.50610.6139 08-MA004

OE MAN 81.50610.6140 08-MA003

OE MAN 81.50610.6153 08-MA001

OE MAN 81.50610.6154 08-MA002

OE MAN 81.50610.6165 08-ME001

OE MAN 81.50610.6166 08-ME002

OE MAN 81.50610.6169 08-MA009

OE MAN 81.50610.6170 08-MA008

OE MAN 81.50610.6176 08-MA003

OE MAN 81.50610.6177 08-MA004

OE MAN 81.50610.6182 08-MA006

OE MAN 81.50610.6193 08-MA005

OE MAN 81.50610.6200 08-MA007

OE MAN 81.50610.6204 08-MA006

OE MAN 81.50610.6210 08-ME002

OE MAN 81.50610.6211 08-ME001

OE MAN 81.50610.6212 08-MA002

OE MAN 81.50610.6213 08-MA001

OE MAN 81.50610.6214 08-MA003

OE MAN 81.50610.6215 08-MA004

OE MAN 81.50610.6217 08-MA005

OE MAN 81.50610.6222 08-MA008

OE MAN 81.50610.6223 08-MA009

OE MAN 81.50610.9132 08-KT001

OE MAN 81.50610.9204 08-MA006

OE MAN 81.50610.9211 08-ME001

OE MAN 81.50612.0001 08-KT001

OE MAN 81.50803.0001 02-MA004

OE MAN 81.50803.0009 02-MA004

OE MAN 81.50803.0010 02-MA009

OE MAN 81.50803.0014 02-MA004

OE MAN 81.50803.0021 02-MA005

www.sbp-brakes.com 73
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.

CROSS REFERENCES



CROSS REFERENCES

OE TYPE OE  no SBP no
OE MAN 81.50803.0022 02-MA006

OE MAN 81.50803.0023 02-MA003

OE MAN 81.50803.0026 02-MA007

OE MAN 81.50803.0027 02-MA010

OE MAN 81.50803.0028 02-MA011

OE MAN 81.50803.0031 02-MA003

OE MAN 81.50803.0038 02-MA003

OE MAN 81.50803.0039 02-ME020

OE MAN 81.50803.0040 02-MA003

OE MAN 81.50803.0041 02-MA005

OE MAN 81.50803.0042 02-MA001

OE MAN 81.50803.0044 02-MA013

OE MAN 81.50803.0048 02-MA011

OE MAN 81.50803.0054 02-MA012

OE MAN 81.50803.0057 02-MA010

OE MAN 81.50803.0061 02-MA006

OE MAN 81.50803.0062 02-MA002

OE MAN 81.50803.0063 02-MA012

OE MAN 81.50811.0004 WIC010

OE MAN 81.50820.5072 07-P29131

OE MAN 81.50820.5080 07-P29131

OE MAN 81.50820.5085 07-P29148

OE MAN 81.50820.5094 07-P29095

OE MAN 81.50820.6022 07-P29095

OE MAN 81.50820.6030 07-P29108

OE MAN 81.50820.6032 07-P29108

OE MAN 81.50820.6033 07-P29108

OE MAN 81.50820.6041 07-P29131

OE MAN 81.50820.6043 07-P29148

OE MAN 81.50820.6051 07-P29131

OE MAN 81.50820.6052 07-P29131

OE MAN 81.50820.6054 07-P29148

OE MAN 81.50820.6055 07-P29108

OE MAN 81.50820.6056 07-P29108

OE MAN 81.50820.6065 07-P29108

OE MAN 81.50822.6011 WIC045

OE MAN 81.50822.6014 WIC022

OE MAN 81.50822.6016 WIC045

OE MAN 81.50822.6017 WIC024

OE MAN 81.50822.6029 WIC035

OE MAN 81.51101.6076 05-BCT20LS

OE MAN 81.51101.6081 05-BCT24LS

OE MAN 81.51101.6082 05-BCT24LS

OE MAN 81.51101.6083 05-BCT24LS

OE MAN 81.51101.6172 05-BCT16LS

OE MAN 81.51101.6260 05-BCT16LS

OE MAN 81.51101.6266 05-BCT16LS

OE MAN 81.51101.9249 05-BCT16LS

OE MAN 81.5820.6008 07-P29095

WABCO 897 120 510 4 05-DMT16

WABCO 897 120 515 4 05-DMT16LS

WABCO 897 120 516 4 05-DMT16LS

WABCO 897 120 520 4 05-DMT20

WABCO 897 120 530 4 05-DMT24

WABCO 897 120 536 4 05-DMT24LS

WABCO 897 120 540 4 05-DMT30

WABCO 897 120 546 4 05-DMT30LS

OE MERCEDES BENZ 901 540 00 17 WIC040

OE MERCEDES BENZ 901 540 01 17 WIC040

OE MERCEDES BENZ 902 421 03 12 02-ME002

OE MERCEDES BENZ 902 421 04 12 02-ME002

OE MERCEDES BENZ 902 421 06 12 02-ME002

OE MERCEDES BENZ 902 421 07 12 02-ME002

OE MERCEDES BENZ 902 423 01 12 02-ME005

OE MERCEDES BENZ 902 423 03 12 02-ME005

OE TYPE OE  no SBP no
OE MERCEDES BENZ 902 423 04 12 02-ME005

OE MERCEDES BENZ 904 423 02 12 02-ME008

OE MERCEDES BENZ 904 423 03 12 02-ME008

OE MERCEDES BENZ 905 420 00 72 02-ME025

OE MERCEDES BENZ 905 421 00 12 02-ME024

OE MERCEDES BENZ 906 423 01 12 02-ME023

WABCO 925 164 010 0 05-BCT24/24-G03

WABCO 925 321 202 0 05-BCT24/24-G05

WABCO 925 371 300 0 05-BCT24/30LS

WABCO 925 372 300 0 05-BCT30/30LS

WABCO 925 376 100 0 05-BCT24/30LS

WABCO 925 384 001 0 05-BC16/24-K01

WABCO 925 384 010 0 05-BC16/24-K01

WABCO 925 460 000 0 05-BCT20/24-G01

WABCO 925 460 001 0 05-BCT20/24-G02

WABCO 925 460 102 0 05-BCT20/24-K02

WABCO 925 461 000 0 05-BCT24/24-G01

WABCO 925 461 001 0 05-BCT24/24-G02

WABCO 925 461 010 0 05-BCT24/24-K02

WABCO 925 461 011 0 05-BCT24/24-G04

WABCO 925 461 032 0 05-BCT24/24-K01

WABCO 925 464 000 0 05-BCT16/24-G01

WABCO 925 464 001 0 05-BCT16/24-G02

WABCO 925 464 020 0 05-BCT16/24-G04

WABCO 925 464 021 0 05-BCT16/24-G05

WABCO 925 466 011 0 05-BCT12/24-K02

WABCO 925 468 000 0 05-BCT14/24-G01

WABCO 925 468 001 0 05-BCT14/24-G02

WABCO 925 468 010 0 05-BCT14/24-G05

WABCO 925 468 012 0 05-BCT14/24-G06

WABCO 925 468 013 0 05-BCT14/24-G07

WABCO 925 468 020 0 05-BCT14/24-G08

WABCO 925 468 021 0 05-BCT14/24-G09

WABCO 925 468 022 0 05-BCT14/24-G10

WABCO 925 468 023 0 05-BCT14/24-G11

WABCO 925 480 004 0 05-BCT20/24-G01

WABCO 925 480 005 0 05-BCT20/24-G02

WABCO 925 480 960 0 05-BCT20/24-G03

WABCO 925 481 000 0 05-BCT24/24-G01

WABCO 925 481 001 0 05-BCT24/24-G02

WABCO 925 481 012 0 05-BCT24/24-K02

WABCO 925 481 013 0 05-BCT24/24-G04

WABCO 925 484 002 0 05-BCT16/24-G03

WABCO 925 484 010 0 05-BCT16/24-G01

WABCO 925 484 011 0 05-BCT16/24-G02

WABCO 925 484 020 0 05-BCT16/24-G04

WABCO 925 484 021 0 05-BCT16/24-G05

WABCO 925 486 010 0 05-BCT12/24-K01

WABCO 925 486 011 0 05-BCT12/24-K02

WABCO 925 488 000 0 05-BCT14/24-G01

WABCO 925 488 001 0 05-BCT14/24-G02

WABCO 925 488 002 0 05-BCT14/24-G03

WABCO 925 488 003 0 05-BCT14/24-G04

WABCO 925 488 010 0 05-BCT14/24-G05

WABCO 925 488 014 0 05-BCT14/24-G06

WABCO 925 488 015 0 05-BCT14/24-G07

WABCO 925 488 020 0 05-BCT14/24-G08

WABCO 925 488 021 0 05-BCT14/24-G09

WABCO 925 488 022 0 05-BCT14/24-G10

WABCO 925 488 023 0 05-BCT14/24-G11

OE MERCEDES BENZ 942 420 02 38 08-ME008

OE MERCEDES BENZ 942 420 03 38 08-ME009

OE MERCEDES BENZ 942 420 05 38 08-ME009

OE MERCEDES BENZ 942 420 08 38 08-ME005

OE MERCEDES BENZ 942 420 09 38 08-ME004

www.sbp-brakes.com74
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.



OE TYPE OE  no SBP no
OE MERCEDES BENZ 942 420 12 38 08-ME004

OE MERCEDES BENZ 942 420 13 38 08-ME005

OE MERCEDES BENZ 942 421 09 12 02-ME006

OE MERCEDES BENZ 942 421 10 12 02-ME006

OE MERCEDES BENZ 942 421 11 12 02-ME006

OE MERCEDES BENZ 942 421 12 12 02-ME006

OE MERCEDES BENZ 942 421 21 12 02-ME006

OE MERCEDES BENZ 942 423 00 12 02-ME006

OE MERCEDES BENZ 945 420 00 38 08-ME004

OE MERCEDES BENZ 945 420 01 38 08-ME005

OE MERCEDES BENZ 945 420 03 38 08-ME009

OE MERCEDES BENZ 970 421 00 12 02-ME017

OE MERCEDES BENZ 970 421 01 12 02-ME017

OE MERCEDES BENZ 970 421 02 12 02-ME017

OE MERCEDES BENZ 970 421 06 12 02-ME017

OE MERCEDES BENZ 970 421 06 1210 02-ME017

OE MERCEDES BENZ 970 423 02 12 02-ME020

OE MERCEDES BENZ 970 423 04 12 02-ME001

OE MERCEDES BENZ 970 423 07 12 02-ME021

OE MERCEDES BENZ 975 421 00 12 02-ME018

OE MERCEDES BENZ 975 421 01 12 02-ME018

OE MERCEDES BENZ 975 421 02 12 02-ME018

OE MERCEDES BENZ 975 423 03 12 02-ME003

OE MERCEDES BENZ 975 423 06 12 02-ME003

OE MERCEDES BENZ A 668 421 01 12 02-ME007

OE MERCEDES BENZ A003 420 11 20 07-P29148

OE MERCEDES BENZ A003 420 12 20 07-P29148

OE LOHR A06010601 08-BP001

OE DAF AAR5516 02-DA009

OE FRUEHAUF-TRAILOR A-JA-0508-004 03-FR001

OE FRUEHAUF-TRAILOR AJB 0465002 01-FR001

OE DAF AMPA962 01-DA007

OE DAF AMPB887 02-DA003

OE DAF AMPB889 02-DA005

OE DAF BBU5933 05-BCT30LS

KNORR BS 3300 05-BCT16-K02

KNORR BS 3301 05-BCT16-K02

KNORR BS 3404 05-BCT20-K02

KNORR BS 3502 05-BCT24-K02

KNORR BS 3601 05-BCT30-K02

KNORR BS 7309 05-BC16/24-K01

KNORR BS 8500 05-BCT24/30-G01

KNORR BS 9306 05-BCT16/24-G05

KNORR BS 9311AT 05-BCT16/24-G02

KNORR BS 9404 05-BCT20/24-K02

KNORR BS 9412AT 05-BCT20/24-G01

KNORR BS 9504 05-BCT24/24-K02

KNORR BS 9510 05-BCT24/14-G01

KNORR BX 3416 05-BCT20LS

KNORR BX 3417 05-BCT20LS

KNORR BX 3534 05-BCT24LS

KNORR BX 3535 05-BCT24LS

KNORR BX 3604 05-BCT30LS

KNORR BX 3605 05-BCT30LS

KNORR BX 7401 05-BCT20/24-G04

KNORR BX 7516 05-BCT24/24-G05

KNORR BX 7523 05-BCT24/30LS

KNORR BX 7525 05-BCT24/30LS

KNORR BX 7611 05-BCT30/30LS

KNORR BX 7612 05-BCT30/30LS

KNORR BZ 3370 05-BCT16LS

KNORR BZ 3440 05-BCT20LS

KNORR BZ 3443 05-BCT20LS

OE S.M.B. CF100129 04-SM002

OE S.M.B. CF100130 04-SM001

OE TYPE OE  no SBP no
OE S.M.B. CF103319 04-SM006

OE S.M.B. CF103320 04-SM005

OE DAF FBU8676 05-DMT20

KNORR FE6737 08-SA002

OE VAUXHALL H79208C 08-ME001

KNORR II 180220062 07-P29108

KNORR II 376380061 02-ME006

KNORR II 376580062 07-P29095

KNORR II180220062 07-P29108

OE SETRA II31025 02-NE001

OE NEOPLAN II37191 02-NE001

OE NEOPLAN II371910061 02-NE001

KNORR II377630062 07-P29148

KNORR II377660062 07-P29148

KNORR II377800062 07-P29095

KNORR K 000810 02-SC001

KNORR K 001104 07-P29108

KNORR K 004169 07-P29158

KNORR K 011469 07-P29165

KNORR K 015946 07-P29167

KNORR K 015947 07-P29171

KNORR K 046771K50 07-P29108

KNORR K001104 07-P29108

KNORR K001402 07-P29108

OE BPW K002627 07-P29171

KNORR K003239 07-P29108

OE BPW K003965 07-P29165

OE BPW K003966 07-P29167

KNORR K011234 07-P29158

KNORR KB 1505 08-RO001

KNORR KB 2060 08-ME006

KNORR KB 2065 08-ME008

KNORR KB 2230 08-RV003

KNORR KB 2240 08-RV001

KNORR KB 3485 08-RV002

KNORR KB 3490 08-RV004

KNORR KB 6510 08-ME004

KNORR KB 6515 08-ME005

OE DAF LBU8698 02-DA009

OE MERCEDES BENZ M06 9018 02-SM001

OE DAF MAK7529 02-DA005

OE MITSUBISHI MB295971 02-MI003

MERITOR MBD1040 01-BP007

MERITOR MBD2057 01-VO007

MERITOR MBR5032 02-NE001

MERITOR MBR5097 02-DA008

MERITOR MBR5100 02-DA007

OE ROR MBR9001 02-RO004

MERITOR MDP1277 07-P29148

OE MITSUBISHI MK356572 02-MI001

OE S.M.B. MOO6093 03-FR003

OE S.M.B. MOO6204 03-FR002

OE S.M.B. MOO6220 03-FR001

OE DAF PAK 3546 02-DA003

OE DAF PAK3545 02-DA005

OE DAF PAK3546 02-DA003

OE DAF PAK5513 02-DA005

OE KASSBOHRER Q8285515573 07-P29108

OE MITSUBISHI QMK326334 02-MI002

OE DAF RAK7404 02-DA005

OE DAF RAK7501 01-DA007

GRAU ROR T.20.SD 05-BCT20LS

KNORR SEB 01315 05-FK01

KNORR SEB 01315RL 05-FK01

KNORR Z 0009911 02-DA002

KNORR Z 001637 02-RV006

www.sbp-brakes.com 75
Manufacturers’ and other wholesalers’ part numbers used in this catalogue are for cross reference purposes only and do not imply anything about the origin or manufacturer of the product.

CROSS REFERENCES



Safe braking is our priority
www.sbp-brakes.com

Indeks: SBP-CAT


